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4.2. �45>D4F>D=O5 D45>FO < (<?<) ?D4>F<G5E><5 74=OF<O 
 

4.2.1. �D4>F<G5E><5 74=OF<O 
 

&45?<F4 4.2.1 3 �D4>F<G5E><5 74=OF<O  

 
7 �4<<5=>64=<5 ?D4>F<G5E>>7> 74=OF<O �5N5<, G4E 

1 

�6545=<5. &5?< < 7444G< 4<EF<??<=O. �E=>6=O5 ?>=OF<O. 

6, <7 =<E 

?D4>F<G5E>4O 

?>47>F>6>4 - 

2 

2 

-F4?O D476<F<O < >?4EE<D<>4F<O DO=>4 =546<6<<>EF<. �D>D5EE<O «�F5=-

M<> =546<6<<>EF<» 

3 

3 

�=4?<7 <EE>4=OE 44==OE ?D< >?D545?5=<< EF><<>EF< >5N5>F>6 =546<6<-

<>EF< 

3 

4 �E=>6=O5 MF4?O >F5=>< =546<6<<>7> <<GM5EF64 3 

5 �4FD4F=O= ?>4E>4 ?D< >F5=>5 =546<6<<>EF<. �?F<>=. 3 

6 &5=>>5D47>64=<5 6 EFD><F5?LEF65 3 

7 �<4O <7=>E4 >5N5>F4 =546<6<<>EF< < <5F>4O 57> >?D545?5=<O. 3 

8 %D46=<F5?L=O= ?>4E>4 ?D< >F5=>5 =546<6<<>EF< 3 

9 �>E>4=O= ?>4E>4 ?D< >F5=>5 =546<6<<>EF< 3 

10 %>7?4E>64=<5 D57G?LF4F>6 ?D< >F5=>5 =546<6<<>EF<. 3 

11 �D74=<74F<O ?D>F5EE4 >F5=>< =546<6<<>EF< 3 

�F>7> 

 36, <7 =<E 

?D4>F<G5E>4O 

?>47>F>6>4 - 

2 

 
 

 

4.3. %4<>EF>OF5?L=4O D45>F4 EFG45=F>6 (%$%) 
 

&45?<F4 4.3 3 %4<>EF>OF5?L=4O D45>F4 EFG45=F>6 
 

7 

D4745?4 

(F5<O) 

�4<<5=>64=<5 D4745?4 (F5<O) 4<EF<??<=O 
%D>> 

6O?>?=5=<O 

�D5<O, 74FD4-

G<645<>5 =4 

6O?>?=5=<5 %$%, 

G4E. 

1 
�6545=<5. &5?< < 7444G< 4<EF<??<=O. 

�E=>6=O5 ?>=OF<O. 
2 =545?O 7 

2 
-F4?O D476<F<O < >?4EE<D<>4F<O DO=>4 =546<-

6<<>EF<. �D>D5EE<O «�F5=M<> =546<6<<>EF<» 
2 =545?O 7 

3 
�=4?<7 <EE>4=OE 44==OE ?D< >?D545?5=<< 

EF><<>EF< >5N5>F>6 =546<6<<>EF< 
4 =545?O 7 

4 �E=>6=O5 MF4?O >F5=>< =546<6<<>7> 

 
6 =545?O 7 

5 
�4FD4F=O= ?>4E>4 ?D< >F5=>5 =546<6<<>EF<. 

�?F<>=. 
8 =545?O 7 

6 &5=>>5D47>64=<5 6 EFD><F5?LEF65 10 =545?O 7 

7 
�<4O <7=>E4 >5N5>F4 =546<6<<>EF< < <5F>4O 

57> >?D545?5=<O. 
12 =545?O 7 

8 
%D46=<F5?L=O= ?>4E>4 ?D< >F5=>5 =546<6<<>-

EF< 
12 =545?O 7 

9 �>E>4=O= ?>4E>4 ?D< >F5=>5 =546<6<<>EF< 14 =545?O 7 
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10 
%>7?4E>64=<5 D57G?LF4F>6 ?D< >F5=>5 =546<6<-

<>EF<. 
16 =545?O 7 

11 �D74=<74F<O ?D>F5EE4 >F5=>< =546<6<<>EF< 18 =545?O 9,85 

 �F>7> 
 

79,85 

 

 
5. �5D5G5=L GG55=>-<5F>4<G5E>>7> >55E?5G5=<O 4?O E4<>EF>OF5?L=>= 

D45>FO >5GG4NM<EEO ?> 4<EF<??<=5 
 

%FG45=FO <>7GF ?D< E4<>EF>OF5?L=>< <7GG5=<< >F45?L=OE F5< < 6>?D>E>6 

4<EF<??<= ?>?L7>64FLEO GG55=>-=47?O4=O<< ?>E>5<O<<, GG55=O< >5>DG4>64=<5< < 

<5F>4<G5E><<< D47D45>F>4<< >4D54DO 6 D45>G55 6D5<O, GEF4=>6?5==>5 �D46<?4<< 

6=GFD5==57> D4E?>DO4>4 D45>F=<>>6. 

'G55=>-<5F>4<G5E>>5 >55E?5G5=<5 4?O E4<>EF>OF5?L=>= D45>FO 

>5GG4NM<EEO ?> 44==>= 4<EF<??<=5 >D74=<7G5FEO: 

1. 5<5?<>F5>>= G=<65DE<F5F4: 

- 5<5?<>F5G=O= D>=4 G>><??5>F>64= GG55=>=, <5F>4<G5E>>=, =4GG=>=, ?5-

D<>4<G5E>>=, E?D46>G=>= < EG4>65EF65==>= ?<F5D4FGD>= 6 E>>F65FEF6<< E '� < 44=-

=>= $��; 

- <<55FEO 4>EFG? > >E=>6=O< <=D>D<4F<>==O< >5D47>64F5?L=O< D5EGDE4<, 

<=D>D<4F<>==>= 5475 44==OE, 6 F>< G<E?5 5<5?<>7D4D<G5E>>=, 6>7<>6=>EFL 6OE>-

44 6 �=F5D=5F. 

2. >4D54D>=: 

- ?GF5< >55E?5G5=<O 4>EFG?=>EF< 6E57> =5>5E>4<<>7> GG55=>-<5F>4<G5E>>7> 

< E?D46>G=>7> <4F5D<4?4; 

- ?GF5< ?D54>EF46?5=<O <=D>D<4F<< <7 GG55=<>>6, GG55=OE ?>E>5<= < 

?5D<>4<G5E><E <744=<= D>=44 >4D54DO (5<5?<>F5>4 >4D54DO); 

- ?GF5< ?D54>EF46?5=<O E6545=<= > =4?<G<< GG55=>-<5F>4<G5E>>= ?<F5D4-

FGDO, E>6D5<5==OE ?D>7D4<<=OE ED54EF6; 

- ?GF5< D47D45>F><: <5F>4<G5E><E D5>><5=44F<=, ?>E>5<= ?> >D74=<74F<< 

E4<>EF>OF5?L=>= D45>FO EFG45=F>6; 7444=<= 4?O E4<>EF>OF5?L=>= D45>FO; F5< 

4>>?44>6; 6>?D>E>6 > 74G5FG < F.4.  

3. F<?>7D4D<5= G=<65DE<F5F4: 

- ?><>ML 46F>D4< 6 ?>47>F>6>5 < <744=<< =4GG=>=, GG55=>= < <5F>4<G5E>>= 

?<F5D4FGDO; 

- G4>6?5F6>D5=<5 ?>FD55=>EF< 6 F<D46<D>64=<< =4GG=>=, GG55=>= < 

<5F>4<G5E>>= ?<F5D4FGDO. 

 

6. �5D47>64F5?L=O5 F5E=>?>7<< 
 

$54?<74F<O >><?5F5=F=>EF=>7> ?>4E>44 ?D54GE<4FD<645F L<D>>>5 

<E?>?L7>64=<5 6 >5D47>64F5?L=>< ?D>F5EE5 4>F<6=OE < <=F5D4>F<6=OE D>D< 

?D>6545=<O 74=OF<= 6 E>G5F4=<< E 6=54G4<F>D=>= D45>F>= E F5?LN 

D>D<<D>64=<O G=<65DE4?L=OE, >5M5?D>D5EE<>=4?L=OE < ?D>D5EE<>=4?L=OE 

>><?5F5=F<= >5GG4NM<EEO. � D4<>4E 4<EF<??<=O ?D54GE<>FD5=O 6EFD5G< E 
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D57G?LF4F>6 >5GG5=<O ?> 4<EF<??<=4< (<>4G?O<) < ?D4>F<>4< ?D< >E6>5=<< 

>5GG4NM<<<EO >5D47>64F5?L=OE ?D>7D4<<»; 

- �5F>4<G5E><5 G>474=<O, <E?>?L7G5<O5 6 >5D47>64F5?L=>< ?D>F5EE5, 

G>474==O5 6 E?<E>5 ?<F5D4FGDO.  

�?O F5>GM57> >>=FD>?O GE?5645<>EF< ?> 4<EF<??<=5 6 D4<>4E 45=EF6GNM5= 

6 G=<65DE<F5F5 54??L=>-D5=F<=7>6>= E<EF5<O ?D<<5=O5FEO E?54GNM<= ?>DO4>> 

=4G<E?5=<O 54??>6:  
 

&45?<F4 7.4 3 �>DO4>> =4G<E?5=<O 54??>6 6 D4<>4E �$% 
 

$>D<4 >>=FD>?O 

�<=<<4?L=O= 54?? �4>E<<4?L=O= 54?? 

54?? ?D<<5G4=<5 54?? ?D<<5G4=<5 

�D4>F<G5E>>5 74=OF<5 7 1  2 

�O?>?=<?,  

4>?O ?D46<?L=>EF< 

6O?>?=5=<O 7444=<O 

<5=55 50 % 

4 

�O?>?=<?, 

4>?O ?D46<?L=>EF< 

6O?>?=5=<O 7444=<O 

5>?55 50 % 

�D4>F<G5E>>5 74=OF<5 7 2  2 

�O?>?=<?,  

4>?O ?D46<?L=>EF< 

6O?>?=5=<O 7444=<O 

<5=55 50 % 

4 

�O?>?=<?, 

4>?O ?D46<?L=>EF< 

6O?>?=5=<O 7444=<O 

5>?55 50 % 

�D4>F<G5E>>5 74=OF<5 7 3 2 

�O?>?=<?,  

4>?O ?D46<?L=>EF< 

6O?>?=5=<O 7444=<O 

<5=55 50 % 

4 

�O?>?=<?, 

4>?O ?D46<?L=>EF< 

6O?>?=5=<O 7444=<O 

5>?55 50 % 

�D4>F<G5E>>5 74=OF<5 7 4  2 

�O?>?=<?,  

4>?O ?D46<?L=>EF< 

6O?>?=5=<O 7444=<O 

<5=55 50 % 

4 

�O?>?=<?, 

4>?O ?D46<?L=>EF< 

6O?>?=5=<O 7444=<O 

5>?55 50 % 

�D4>F<G5E>>5 74=OF<5 7 5  2 

�O?>?=<?,  

4>?O ?D46<?L=>EF< 

6O?>?=5=<O 7444=<O 

<5=55 50 % 

4 

�O?>?=<?, 

4>?O ?D46<?L=>EF< 

6O?>?=5=<O 7444=<O 

5>?55 50 % 

�D4>F<G5E>>5 74=OF<5 7 6  2 

�O?>?=<?,  

4>?O ?D46<?L=>EF< 

6O?>?=5=<O 7444=<O 

<5=55 50 % 

4 

�O?>?=<?, 

4>?O ?D46<?L=>EF< 

6O?>?=5=<O 7444=<O 

5>?55 50 % 

�D4>F<G5E>>5 74=OF<5 7 7 2 

�O?>?=<?,  

4>?O ?D46<?L=>EF< 

6O?>?=5=<O 7444=<O 

<5=55 50 % 

4 

�O?>?=<?, 

4>?O ?D46<?L=>EF< 

6O?>?=5=<O 7444=<O 

5>?55 50 % 

�D4>F<G5E>>5 74=OF<5 7 8 2 

�O?>?=<?,  

4>?O ?D46<?L=>EF< 

6O?>?=5=<O 7444=<O 

<5=55 50 % 

4 

�O?>?=<?, 

4>?O ?D46<?L=>EF< 

6O?>?=5=<O 7444=<O 

5>?55 50 % 

�D4>F<G5E>>5 74=OF<5 7 9 2 

�O?>?=<?,  

4>?O ?D46<?L=>EF< 

6O?>?=5=<O 7444=<O 

<5=55 50 % 

4 

�O?>?=<?, 

4>?O ?D46<?L=>EF< 

6O?>?=5=<O 7444=<O 

5>?55 50 % 
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�D4>F<G5E>>5 74=OF<5 7 10 2 

�O?>?=<?,  

4>?O ?D46<?L=>EF< 

6O?>?=5=<O 7444=<O 

<5=55 50 % 

4 

�O?>?=<?, 

4>?O ?D46<?L=>EF< 

6O?>?=5=<O 7444=<O 

5>?55 50 % 

�D4>F<G5E>>5 74=OF<5 7 11 2 

�O?>?=<?,  

4>?O ?D46<?L=>EF< 

6O?>?=5=<O 7444=<O 

<5=55 50 % 

4 

�O?>?=<?, 

4>?O ?D46<?L=>EF< 

6O?>?=5=<O 7444=<O 

5>?55 50 % 

�F>7>6>5 >>?<G5EF6> 54??>6 

(74 >>=FD>?L=O5 F>G><,  

=5 6>?NG4O ?>E5M45<>EFL) 

24  48  

�>E5M45<>EFL 0 �5 ?>E5M4? 74=OF<= 16 
�D>?GE>>6 74=OF<=  

=5 5O?> 

$>D<4 >>=FD>?O  3 74G5F   36  

�&��� 24  100  

 

�?O ?D><56GF>G=>= 4FF5EF4F<< >5GG4NM<EEO, ?D>6>4<<>= 6 6<45 

F5EF<D>64=<O, <E?>?L7G5FEO E?54GNM4O <5F>4<>4 >F5=<64=<O 7=4=<=, G<5=<=, 

=46O>>6 < (<?<) >?OF4 45OF5?L=>EF<. � >464>< 64D<4=F5 ��� - 16 7444=<= 

(15 6>?D>E>6 < >4=4 7444G4).  

�464O= 65D=O= >F65F >F5=<645FEO E?54GNM<< >5D47><:  

- 7444=<5 6 74>DOF>= D>D<5 3 2 54??4,  

- 7444=<5 6 >F>DOF>= D>D<5 3 2 54??4,  

- 7444=<5 =4 GEF4=>6?5=<5 ?D46<?L=>= ?>E?54>64F5?L=>EF< 3 2 54??4,  

- 7444=<5 =4 GEF4=>6?5=<5 E>>F65FEF6<O 3 2 54??4,  

- D5L5=<5 >><?5F5=F=>EF=>->D<5=F<D>64==>= 7444G< 3 6 54??>6.  

�4>E<<4?L=>5 >>?<G5EF6> 54??>6 74 F5EF<D>64=<5 - 36 54??>6. 

 

8. �5D5G5=L >E=>6=>= < 4>?>?=<F5?L=>= GG55=>= ?<F5D4FGDO, 

=5>5E>4<<>= 4?O >E6>5=<O 4<EF<??<=O 

 

8.1�E=>6=4O GG55=4O ?<F5D4FGD4 

1. �4F65564, �. �. �D46>6>5 D57G?<D>64=<5 G?D46?5=<O =546<6<<>EFLN 

: GG55=>5 ?>E>5<5 / �. �. �4F65564, -. �. ,4DO?>64. 3 �>E>64 ; �5D?<= : 

�<D5>F-�54<4, 2020. 3 295 E. 3 

URL: https://biblioclub.ru/index.php?page=book&id=574365 (44F4 >5D4M5=<O: 

28.02.2023). 3 $56<< 4>EFG?4: ?> ?>4?<E>5. 3 &5>EF : M?5>FD>==O=. 

2. �4F65564, �. �. %45?>< E =546<6<<O< <<GM5EF6>< : GG55=>5 ?>E>5<5  

/ �. �. �4F65564. 3 �>E>64 ; �5D?<= : �<D5>F-�54<4, 2019. 3 296 E. 3 

URL: https://biblioclub.ru/index.php?page=book&id=564395 (44F4 >5D4M5=<O: 

28.02.2023). 3 $56<< 4>EFG?4: ?> ?>4?<E>5. 3 &5>EF : M?5>FD>==O=. 

 

8.2�>?>?=<F5?L=4O GG55=4O ?<F5D4FGD4 

3. �E6?54<4=<, .. &. %FD4E>64=<5 : GG55=<> / .. &. �E6?54<4=<. 3 3-5 

<74., ?5D5D45. < 4>?. 3 �>E>64 : .=<F<-�4=4, 2020. 3 377 E.3 

URL: https://biblioclub.ru/index.php?page=book&id=692030 (44F4 >5D4M5=<O: 



27 
 

28.02.2023). 3 $56<< 4>EFG?4: ?> ?>4?<E>5. 3 &5>EF : M?5>FD>==O=. 

4. �GDL56, �. �. %45?>< E =546<6<<>EFLN : ?D4>F<G5E>>5 ?>E>5<5 / 

�. �. �GDL56. 3 �>E>64 : �45>D4F>D<O >=<7<, 2010. 3 172 E. 

URL: https://biblioclub.ru/index.php?page=book&id=96821 (44F4 >5D4M5=<O: 

28.02.2023). 3 $56<< 4>EFG?4: ?> ?>4?<E>5. 3 &5>EF : M?5>FD>==O=. 

5. �E=>6O F5>D<< EFD4E>64=<O : GG55=<> / �. �. %>G5D<=, 

�. �. �5?L=<GG>, �. �. ,4F4564, �. �. %46<=>6. 3 �>E>64 ; �5D?<= : �<D5>F-

�54<4, 2020. 3 501 E. 3 

URL: https://biblioclub.ru/index.php?page=book&id=601367 (44F4 >5D4M5=<O: 

28.02.2023). 3 $56<< 4>EFG?4: ?> ?>4?<E>5. 3 &5>EF : M?5>FD>==O=. 

 

8.3. �5D5G5=L <5F>4<G5E><E G>474=<= 

6. �F5=>4 >5N5>F>6 =546<6<<>EF< : <5F>4<G5E><5 G>474=<O ?> 

6O?>?=5=<N ?D4>F<G5E><E D45>F 4?O EFG45=F>6 =4?D46?5=<= ?>47>F>6>< 

08.03.01 «%FD><F5?LEF6>», 21.03.02. «�5<?5GEFD>=EF6> < >444EFDO» / .7>-�4?. 

7>E. G=-F ; E>EF. �. �. ,?55=>>. - -?5>FD>=. F5>EF>6O5 44=. (362 ��). - �GDE> : 

.��', 2021. - 19 E. - �47?. E F<FG?. M>D4=4. - �. F. - &5>EF : M?5>FD>==O= 

7. %4<>EF>OF5?L=4O D45>F4 EFG45=F>6 : <5F>4<G5E><5 G>474=<O ?> 

>D74=<74F<< E4<>EF>OF5?L=>= D45>FO EFG45=F>6, >5GG4NM<EEO ?> 

?D>7D4<<4< 54>4?46D<4F4 < <47<EFD4FGDO ?> =4?D46?5=<O< ?>47>F>6>< 

08.03.01 %FD><F5?LEF6>, 08.04.01 %FD><F5?LEF6>, 21.03.02 �5<?5GEFD>=EF6> < 

>444EFDO / .7>-�4?. 7>E. G=-F ; E>EF.: �. �. �DO7<=4, &. �. �>6<>>64. - 

-?5>FD>=. F5>EF>6O5 44=. (373 ��). - �GDE> : .��', 2017. - 31 E. - �. F. - &5>EF 

: M?5>FD>==O=. 

8. %4<>EF>OF5?L=4O D45>F4 EFG45=F>6 : <5F>4<G5E><5 G>474=<O ?> 

>D74=<74F<< E4<>EF>OF5?L=>= D45>FO EFG45=F>6, >5GG4NM<EEO ?> 

?D>7D4<<4< 54>4?46D<4F4 < <47<EFD4FGDO ?> =4?D46?5=<O< ?>47>F>6>< 

08.03.01 %FD><F5?LEF6>, 08.04.01 %FD><F5?LEF6>, 13.03.01 &5??>M=5D75F<>4 < 

F5??>F5E=<>4, 13.04.01 &5??>M=5D75F<>4 < F5??>F5E=<>4 / .7>-�4?. 7>E. G=-F ; 

E>EF.: �. �. %5<<G564 [< 4D.]. - -?5>FD>=. F5>EF>6O5 44=. (986 ��). - �GDE> : 

.��', 2022. - 39 E. - �47?. E F<FG?. M>D4=4. - �. F. 

 

8.4. �DG7<5 GG55=>-<5F>4<G5E><5 <4F5D<4?O 

�GD=4?O (?5D<>4<G5E><5 <744=<O): 

1. �765EF<O .��'. 

2. �765EF<O .��'. %5D<O: ->>=><<>4. %>F<>?>7<O. �5=546<5=F. 

 

9. �5D5G5=L D5EGDE>6 <=D>D<4F<>==>-F5?5>><<G=<>4F<>==>= E5F< 

�=F5D=5F, =5>5E>4<<OE 4?O >E6>5=<O 4<EF<??<=O 

1. '=<65DE<F5FE>4O 5<5?<>F5>4 >=?4== - www.biblioclub.ru 

2. �4GG=4O 5<5?<>F5>4 .7>-�4?44=>7> 7>EG44DEF65==>7> G=<65DE<F5F4  

http://www.lib.swsu.ru/2011-02-23-15-22-58/2012-08-30-06-40-55.html 

3. �4GG=4O M?5>FD>==4O 5<5?<>F5>4 eLibrary.ru (>D<F<4?L=O= E4=F) -  

http://elibrary.ru 

4. %?D46>G=>-?><E>>64O E<EF5<4 �>=EG?LF4=F�?NE -  www.Eonsultant.ru 
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8.4. �DG7<5 GG55=>-<5F>4<G5E><5 <4F5D<4?O 

�GD=4?O (?5D<>4<G5E><5 <744=<O): 

1. �765EF<O .��'. 

2. �765EF<O .��'. %5D<O: ->>=><<>4. %>F<>?>7<O. �5=546<5=F. 

3. �5=546<5=F 6 $>EE<< < 74 DG556><. 

 

9. �5D5G5=L D5EGDE>6 <=D>D<4F<>==>-F5?5>><<G=<>4F<>==>= E5F< 

�=F5D=5F, =5>5E>4<<OE 4?O >E6>5=<O 4<EF<??<=O 

1. '=<65DE<F5FE>4O 5<5?<>F5>4 >=?4== - www.biblioclub.ru 

2. �4GG=4O 5<5?<>F5>4 .7>-�4?44=>7> 7>EG44DEF65==>7> G=<65DE<F5F4 -  

http://www.lib.swsu.ru/2011-02-23-15-22-58/2012-08-30-06-40-55.html  

3. �4GG=4O M?5>FD>==4O 5<5?<>F5>4 eLibrary.ru (>D<F<4?L=O= E4=F) -  

http://elibrary.ru  

4. %?D46>G=>-?><E>>64O E<EF5<4 �>=EG?LF4=F�?NE -  www.Eonsultant.ru 

 

10. �5F>4<G5E><5 G>474=<O 4?O >5GG4NM<EEO ?> >E6>5=<N 

4<EF<??<=O 
 

�E=>6=O<< 6<44<< 4G4<F>D=>= D45>FO EFG45=F4 ?D< <7GG5=<< 4<EF<??<=O 

O6?ONFEO ?5>F<< < ?D4>F<G5E><5 74=OF<O. %FG45=F =5 <<55F ?D464 ?D>?GE>4FL 

74=OF<O 557 G646<F5?L=OE ?D<G<=.  

� D4<>4E <7GG5=<O 4<EF<??<=O D45>F4 EFG45=F>6 >D74=<7G5FEO 6 E?54GNM<E 

D>D<4E:  

1. $45>F4 E >>=E?5>F>< ?5>F<= < 4>?>?=<F5?L=>= ?<F5D4FGD>= ?> F5<4< >GDE4. 

2. $45>F4 E D4744F>G=O< <4F5D<4?>< 3 «%>D<=-L>F». 

3. �7GG5=<5 6>?D>E>6, 6O=>E<<OE 74 D4<>< ?5>F<>==OE 74=OF<= 

(4<E>GEE<>==O5 6>?D>EO 4?O 4>?>?=<F5?L=>7> <7GG5=<O). 

4. �>47>F>6>4 > E5<<=4DE>><G 74=OF<N. 

5. �O?>?=5=<5 7DG??>6OE  < <=4<6<4G4?L=OE 4><4L=<E 7444=<=, 6 F>< G<E?5: 

- ?D>6545=<5 E>55E54>64=<O ?> F5<5 ?5>F<<; 

- ?>47>F>6>4 >D4F>>7> 4>>?444 (D57N<5, MEE5) ?> F5<5 E5<<=4DE>>7> 74=OF<O <  

D47D45>F>4 <G?LF<<54<==>= ?D575=F4F<< > =5<G; 

- 6O?>?=5=<5 ?D4>F<G5E><E 7444=<= (D5L5=<5 7444G, 6O?>?=5=<5 D4EG5F=OE < 

?45>D4F>D=OE D45>F);  

- ?>47>F>6>4 > F5EF<D>64=<N; 

6. %4<>>>=FD>?L. 

$5>><5=4G5<O= =<65 D56<< E4<>EF>OF5?L=>= D45>FO ?>76>?<F EFG45=F4< 

7?G5>>> D47>5D4FLEO 6> 6E5E <7GG45<OE 6>?D>E4E, 4>F<6=> GG4EF6>64FL 6 4<E>GEE<OE 

=4 E5<<=4DE><E 74=OF<OE < 6 >>=5G=>< <F>75 GE?5L=> E44FL 74G5F ?> 4<EF<??<=5. 

1. �5>F<O O6?O5FEO DG=44<5=F4?L=O< <EF>G=<>>< 7=4=<= < 4>?6=4 

E?>E>5EF6>64FL 7?G5>>><G GE6>5=<N <4F5D<4?4, 4>F<6<7<D>64FL <=F5D5E EFG45=F4 > 

<7GG45<>= 4<EF<??<=5.  

$45>FG E >>=E?5>F>< ?5>F<= F5?5E>>5D47=> ?D>6>4<FL =5?>ED54EF65==> ?>E?5 

5U ?D>E?GL<64=<O. �=4 ?D54?>?4745F ?5D5G<FO64=<5 >>=E?5>F4, 6=5E5=<5 6 =57>, ?> 

=5>5E>4<<>EF<, GF>G=5=<=, 4>?>?=5=<=, D47NOE=5=<= < <7<5=5=<=. �7=4>><?5=<5 E  

4>?>?=<F5?L=>= ?<F5D4FGD>= ?> F5<5, ?D>6545=<5 >57>D4 <=5=<= 4DG7<E GG5==OE 
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?> <7GG45<>= F5<5. �5>5E>4<<O< O6?O5FEO 7?G5>>>5 >E6>5=<5 E>45D64=<O ?5>F<< < 

E6>5>4=>5 6?445=<5 <<, 6 F>< G<E?5 <E?>?L7>64==>= 6 =5= F5D<<=>?>7<< (?>=OF<=), 

>4F57>D<= < 74>>=>6. %FG45=FG D5>><5=4G5FEO =5 >7D4=<G<64FLEO ?D< <7GG5=<< F5<O 

F>?L>> >>=E?5>F>< ?5>F<= <?< >4=<< GG55=<>><; =5>5E>4<<> =5 F>?L>> 

>>=E?5>F<D>64FL ?5>F<<, => < G<F4FL 4>?>?=<F5?L=GN ?<F5D4FGDG, <7GG4FL 

<5F>4<G5E><5 D5>><5=44F<<, <744645<O5 >4D54D>=.   

2. «%>D<=-L>F» - E?5F<4?L=O= D4744F>G=O= <4F5D<4?, ?>47>F>6?5==O= 

?D5?>4464F5?5<, >>F>DO= ?D54=47=4G5= 4?O ?>6OL5=<O MDD5>F<6=>EF< GG55=>7> 

?D>F5EE4 74 EG5F: 

- ?D<6?5G5=<O 4>?>?=<F5?L=>7> 6=<<4=<O EFG45=F4 =4 =4<5>?55 646=OE < 

E?>6=OE ?D>5?5<4E >GDE4; 

- >E6>5>645=<O >F =5>5E>4<<>EF< 6545=<O DGF<==OE 74?<E5= ?> E>4G ?5>F<< 

< 6>7<>6=>EF< 5>?55 445>64F=>= D<>E4F<< >?NG56OE ?>?>65=<= ?5>F<<; 

- ?D54EF46?5=<O 6E57> =5>5E>4<<>7> <??NEFD4F<6=>7> < E?D46>G=>-

<=D>D<4F<>==>7> <4F5D<4?4 ?> F5<5 ?5>F<<; 

- 5>?55 7?G5>>>= ?5D5D45>F>< <4F5D<4?>6 >GDE4 ?D< ?>47>F>6>5 > 74G5FG <?< 

M>74<5=G. 

%4<>EF>OF5?L=4O D45>F4 E D4744F>G=O< <4F5D<4?>< «%>D<=-L>F» <>65F 

?D>6>4<FLEO 6<5EF> D45>FO E >>=E?5>F>< ?5>F<=, 5E?< >><?>7<F<O >464>= 

EFD4=<FO <4F5D<4?4 ?>EFD>5=4 ?5>F>D>< F4><< >5D47><, GF> 4>EF4F>G=> E6>5>4=>7> 

<5EF4 4?O >>=E?5>F<D>64=<O <4F5D<4?>6 ?5>F<<, >><<5=F4D<56 < 6OD465=<O 

E>5EF65==OE <OE?5= EFG45=F4 ?> <4F5D<4?4< GE?OL4==>7> <?< ?D>G<F4==>7>.  

� E?GG45, >>744 EFG45=FO 654GF >F45?L=O5 >>=E?5>FO ?5>F<=, D45>F4 E 

D4744F>G=O< <4F5D<4?>< «%>D<=-L>F» ?D>6>4<FEO 6<5EF5 E D45>F>= E >>=E?5>F>< 

?5>F<= ?> >464>= F5<5. 

3. � E6O7< E 5>?LL<< >5N5<>< <7GG45<>7> <4F5D<4?4, <=F5D5E>< >>F>DO= >= 

?D54EF46?O5F 4?O E>6D5<5==>7> >5D47>64==>7> G5?>65>4, =5>>F>DO5 6>?D>EO 

6O=>EOFEO 74 D4<>< ?5>F<=. -F> ?D54GE<>FD5=> GG55=O< ??4=>< ?>47>F>6>< 

54>4?46D>6. �7GG5=<5 6>?D>E>6, 6O=>E<<OE 74 D4<>< ?5>F<>==OE 74=OF<= 

(4<E>GEE<>==OE 6>?D>E>6), ?D54?>?4745F E4<>EF>OF5?L=>5 <7GG5=<5 EFG45=F4<< 

4>?>?=<F5?L=>= ?<F5D4FGDO < 5U >>=E?5>F<D>64=<5 ?> MF<< 6>?D>E4<. 

4. � E>45 ?D4>F<G5E><E 74=OF<= ?D>6>4<FEO D47NOE=5=<5 F5>D5F<G5E><E 

?>?>65=<= >GDE4, GF>G=5=<O <564<EF<??<=4D=OE E6O75=.  

�>47>F>6>4 > ?D4>F<G5E>><G (E5<<=4DE>><G) 74=OF<N ?D54?>?4745F 

5>?LLGN E4<>EF>OF5?L=GN D45>FG < 6>?NG45F 6 E55O: 

- �=4>><EF6> E ??4=>< E5<<=4DE>>7> 74=OF<O < ?>45>D <4F5D<4?4 > =5<G ?> 

G>474==O< <EF>G=<>4< (>>=E?5>F ?5>F<<, >E=>6=4O, E?D46>G=4O < 4>?>?=<F5?L=4O 

?<F5D4FGD4, M?5>FD>==O5 < �=F5D=5F-D5EGDEO). 

- �4?><<=4=<5 ?>4>5D4==>7> ?> ??4=G  <4F5D<4?4. 

- �E6>5=<5 F5D<<=>6, ?5D5G<E?5==OE 6 7?>EE4D<<. 

- �F65FO =4 6>?D>EO, ?D<6545==O5 > >464>= F5<5. 

- �54G<O64=<5 6>?D>E>6 4?O >5EG645=<O. �O46<65=<5 E>5EF65==OE 

64D<4=F>6 >F65F4.  

- �O?>?=5=<5 7444=<= ?D5?>4464F5?O. 

- �>47>F>6>4 (6O5>D>G=>) <=4<6<4G4?L=OE 7444=<=. 

�444=<O, ?D<6545==O5 6 ??4=4E 74=OF<=, 6O?>?=ONFEO 6E5<< EFG45=F4<< 6 

>5O74F5?L=>< ?>DO4>5.  
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5. �O?>?=5=<5 7DG??>6OE  < <=4<6<4G4?L=OE 4><4L=<E 7444=<= O6?O5FEO 

>5O74F5?L=>= D>D<>= E4<>EF>OF5?L=>= D45>FO EFG45=F>6. �> 4<EF<??<=5 >=4 

?D54?>?4745F  ?>47>F>6>G <=4<6<4G4?L=OE <?< 7DG??>6OE (=4 GE<>FD5=<5 

?D5?>4464F5?O) 4>>?44>6 (E>>5M5=<=, D5D5D4F>6, MEE5, F6>DG5E><E 7444=<=) =4 

E5<<=4DE><E 74=OF<OE <  D47D45>F>G <G?LF<<54<==>= ?D575=F4F<< > =5<G. 

�>>?44 - ?D>4G>F E4<>EF>OF5?L=>= D45>FO EFG45=F4, ?D54EF46?ONM<= E>5>= 

?G5?<G=>5 6OEFG??5=<5 ?> ?D54EF46?5=<N ?>?GG5==OE D57G?LF4F>6 D5L5=<O 

>?D545?5==>= GG55=>-?D4>F<G5E>>=, GG55=>-<EE?54>64F5?LE>>= <?< =4GG=>= F5<O.  

$5D5D4F - ?D>4G>F E4<>EF>OF5?L=>= D45>FO EFG45=F4, ?D54EF46?ONM<= E>5>= 

>D4F>>5 <7?>65=<5 6 ?<EL<5==>< 6<45 ?>?GG5==OE D57G?LF4F>6 F5>D5F<G5E>>7> 

4=4?<74 >?D545?5==>= =4GG=>= (GG55=>-<EE?54>64F5?LE>>=) F5<O, 745 46F>D 

D4E>DO645F EGFL <EE?54G5<>= ?D>5?5<O, ?D<6>4<F D47?<G=O5 F>G>< 7D5=<O, 4 F4>65 

E>5EF65==O5 677?O4O =4 =55, ?D<6>4<F E?<E>> <E?>?L7G5<OE <EF>G=<>>6.  

-EE5 - ED54EF6>, ?>76>?ONM55 >F5=<FL G<5=<5 >5GG4NM57>EO ?<EL<5==> 

<7?474FL EGFL ?>EF46?5==>= ?D>5?5<O, E4<>EF>OF5?L=> ?D>6>4<FL 4=4?<7 ?D>5?5<O 

E <E?>?L7>64=<5< >>=F5?F<= < 4=4?<F<G5E>>7> <=EFDG<5=F4D<O E>>F65FEF6GNM5= 

4<EF<??<=O, 45?4FL 6O6>4O, >5>5M4NM<5 46F>DE>GN ?>7<F<N ?> ?>EF46?5==>= 

?D>5?5<5. 

&6>DG5E>>5 7444=<5 - G4EF<G=> D57?4<5=F<D>64==>5 7444=<5, <<5NM55 

=5EF4=44DF=>5 D5L5=<5 < ?>76>?ONM55 4<47=>EF<D>64FL G<5=<O, <=F57D<D>64FL 

7=4=<O D47?<G=OE >5?4EF5=, 4D7G<5=F<D>64FL E>5EF65==GN F>G>G 7D5=<O. �>65F 

6O?>?=OFLEO 6 <=4<6<4G4?L=>< ?>DO4>5 <?< 7DG??>= >5GG4NM<EEO. 

 �D5?>4464F5?L E4< D>D<<DG5F 7444=<5 <?< EFG45=FO <<5NF 6>7<>6=>EFL 

E4<>EF>OF5?L=> 6O5D4FL >4=G <7 ?D54?>?4745<OE ?D5?>4464F5?5< F5< < 6OEFG?<FL 

=4 E5<<=4DE>>< 74=OF<<. �>>?44 (D57N<5, MEE5 < F.4.) >4> D>D<4 E4<>EF>OF5?L=>= 

GG55=>= 45OF5?L=>EF< EFG45=F>6 ?D54EF46?O5F E>5>= D4EEG645=<5 =4 >?D545?5==GN 

F5<G =4 >E=>65 >57>D4 =5E>>?L><E <EF>G=<>>6 6 F5?OE 4>>474F5?LEF64 <?< 

>?D>65D65=<O >4>>7>-?<5> F57<E4.  �=D>D<4F<O <EF>G=<>>6 <E?>?L7G5FEO 4?O 

4D7G<5=F4F<<, <??NEFD4F<< < F.4. E6><E <OE?5=. &5?L =4?<E4=<O F4>>7> 

D4EEG645=<O =5 4G5?<D>64=<5 <<5NM5=EO ?<F5D4FGDO =4 MFG F5<G, 4 ?>47>F>6>4 

EFG45=F>6 > ?D>6545=<N E>5EF65==>7> =4GG=>7> <EE?54>64=<O, > ?D46<?L=><G 

>D>D<?5=<N 57> >?<E4=<O 6 E>>F65FEF6<< E FD55>64=<O<<.  

$45>F4 EFG45=F>6 ?> ?>47>F>6>5 4>>?444 (E>>5M5=<O, D5D5D4F>6, MEE5, 

F6>DG5E><E 7444=<=) 74>?NG45FEO 6 E?54GNM5<: 

- ?>45>D =4GG=>= ?<F5D4FGDO ?> 6O5D4==>= F5<5; 

- D45>F4 E ?<F5D4FGD>=, >F5>D <=D>D<4F<<, >>F>D4O E>>F65FEF6G5F F5<5 < 

?><>745F 4>>474FL F57<EO; 

- 4=4?<7 ?D>5?5<O, D4>F>6, O6?5=<=; 

- E<EF5<4F<74F<O < >5>5M5=<5 44==OE, D>D<G?<D>6>4 6O6>4>6;  

- >F5=>4 F5>D5F<G5E>>7> < ?D4>F<G5E>>7> 7=4G5=<O D4EE<4FD<645<>= 

?D>5?5<O; 

- 4D7G<5=F4F<O E6>57> <=5=<O, >F5=>>, 6O6>4>6, ?D54?>65=<=;   

- 6OEFD4<64=<5 ?>7<>< <7?>65=<O; 

- G>474=<5 <EF>G=<>>6 <=D>D<4F<<, 46F>D>6 <7?4745<OE F>G5> 7D5=<O;  

- ?D46<?L=>5 >D>D<?5=<5 D45>FO (EEO?><, E?<E>> <E?>?L7>64==>= 

?<F5D4FGDO, D<EG=><, F45?<FO) ?> EF4=44DFG.  

%4<>EF>OF5?L=>EFL EFG45=F4 ?D< ?>47>F>6>5 4>>?444 (E>>5M5=<5, MEE5) 

?D>O6?O5FEO 6 6O5>D5 F5<O, D4>GDE4 5U D4EE<>FD5=<O, <EF>G=<>>6 4?O D4E>DOF<O 
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F5<O, F57<E>6, 4D7G<5=F>6 4?O <E 4>>474F5?LEF64, >>=>D5F=>= <=D>D<4F<< <7 

<EF>G=<>>6, E?>E>54 EFDG>FGD<D>64=<O < >5>5M5=<O <=D>D<4F<<, EFDG>FGDO 

<7?>65=<O, 4 F4>65 6 >5>E=>64=<< 6O5>D4 F5<O, 6 >F5=>5 5U 4>FG4?L=>EF<, 

?D4>F<G5E>>7> < F5>D5F<G5E>>7> 7=4G5=<O, 6 6O6>44E.  

�OEFG??5=<5 E 4>>?44>< (D57N<5, MEE5) =4 E5<<=4D5 =5 4>?6=> ?D56OL4FL 7-

10 <<=GF. �>E?5 GEF=>7> 6OEFG??5=<O 46F>D >F65G45F =4 6>?D>EO 4G4<F>D<< 

(EFG45=F>6, ?D5?>4464F5?O) ?> F5<5 < E>45D64=<N E6>57> 6OEFG??5=<O.  

&5?L < 7444G< 44==>7> 6<44 E4<>EF>OF5?L=>= D45>FO EFG45=F>6 >?D545?ONF 

FD55>64=<O, ?D54NO6?O5<O5 > 4>>?44G (D57N<5, MEE5), < >D<F5D<<  57> >F5=><:  

1) ?>7<G5E>4O ?>E?54>64F5?L=>EFL <7?>65=<O;  

2) 4D7G<5=F<D>64==>EFL >F5=>> < 6O6>4>6, 4>>474==>EFL F57<E4;  

3) OE=>EFL < ?D>EF>F4 <7?>65=<O <OE?5= (>FEGFEF6<5 <=>7>E?>6<O < 

<7?<L=57> =4G>>>5D47<O);  

4) E4<>EF>OF5?L=>EFL <7?>65=<O <4F5D<4?4 <EF>G=<>>6;  

5) >>DD5>F=>5 G>474=<5 6 F5>EF5 4>>?444 <EF>G=<>>6 <=D>D<4F<<, 46F>D>6 

?D>6>4<<OE F>G5> 7D5=<O;  

6) EF<?<EF<G5E>4O ?D46<?L=>EFL < 6OD47<F5?L=>EFL (6O5>D O7O>>6OE ED54EF6, 

E>>F65FEF6GNM<E =4GG=><G EF<?N D5G<);  

7) G<5EF=>5 <E?>?L7>64=<5 <??NEFD4F<6=OE ED54EF6 (F<F4F, E=>E>>, D<EG=>>6, 

F45?<F, E?4=4>6).  

�7?>65=<5 <4F5D<4?>6 4>>?444 <>65F E>?D>6>644FLEO <G?LF<<54<==>= 

?D575=F4F<5=. $47D45>F>4 <G?LF<<54<==>= ?D575=F4F<< 6O?>?=O5FEO  ?> 

FD55>64=<N ?D5?>4464F5?O <?< ?> 65?4=<N EFG45=F4.  

�D575=F4F<O 4>?6=4 5OFL 6O?>?=5=4 6 ?D>7D4<<5 Power Point < 6>?NG4FL 

F4>>5 >>?<G5EF6>  E?4=4>6, >4>>5 =5>5E>4<<> 4?O <??NEFD<D>64=<O <4F5D<4?4 

4>>?444 6 ?>?=>< >5N5<5. 

�E=>6=O5 <5F>4<G5E><5 FD55>64=<O, ?D54NO6?O5<O5 > ?D575=F4F<<:  

- ?>7<G=>EFL ?D54EF46?5=<O E E>7?4E>64==>EFL F5>EF>6>7> < 6<7G4?L=>7> 

<4F5D<4?4; 

- E>>F65FEF6<5 E>45D64=<O ?D575=F4F<< 6O5D4==>= F5<5 < 6O5D4==>7> 

?D<=F<?4 <7?>65=<O / DG5D<>4F<<  <=D>D<4F<< (ED>=>?>7<G5E><=, 

>?4EE<D<>4F<>==O=, DG=>F<>=4?L=>-F5?56>= < 4D.); 

- E>D47<5D=>EFL (=5>5E>4<<4O < 4>EF4F>G=4O ?D>?>DF<>=4?L=>EFL) F5>EF4 < 

6<7G4?L=>7> DO44  =4 >464>< E?4=45 (=5 <5=55 50% - 50%, <?< =4 10-20% 5>?55 6 

EF>D>=G 6<7G4?L=>7> DO44); 

- >><D>DF=>EFL 6>E?D<OF<O E M>D4=4 (F65F D>=4; D47<5D < G5F>>EFL LD<DF4); 

- MEF5F<G=>EFL >D>D<?5=<O (6=GFD5==55 54<=EF6> <E?>?L7G5<OE L45?>=>6 

?D54NO6?5=<O <=D>D<4F<<; G?>DO4>G5==>EFL < 6OD47<F5?L=>EFL 7D4D<G5E><E < 

<7>5D47<F5?L=OE M?5<5=F>6); 

- 4>?GE>45FEO =4?<G<5 4=<<4F<>==OE < 76G>>6OE MDD5>F>6. 

�F5=>4 4>>?444 (D57N<5, MEE5) ?D><76>4<FEO 6 D4<>4E 12-54??L=>7> 

F6>DG5E>>7> D5=F<=74 45=EF6GNM5= 6 .��' 54??L=>-D5=F<=7>6>= >F5=>< 

GE?5645<>EF< < >4G5EF64 7=4=<= EFG45=F>6. �F>7>64O >F5=>4 O6?O5FEO EG<<>= 

54??>6, 6OEF46?O5<OE ?D5?>4464F5?5< E GG5F>< <=5=<O 4DG7<E EFG45=F>6 ?> 

>464><G <7 ?5D5G<E?5==OE 6OL5 <5F>4<G5E><E FD55>64=<= > 4>>?44G < 

?D575=F4F<<.  

�> 4<EF<??<=5 F4>65 D>D<>= E4<>EF>OF5?L=>= D45>FO EFG45=F>6 O6?O5FEO 

6O?>?=5=<5 ?D4>F<G5E><E 7444=<=. '4EFL ?D4>F<G5E><E 7444=<= <>65F 5OFL 
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6O?>?=5=4 EFG45=F4<< =4 4G4<F>D=OE ?D4>F<G5E><E 74=OF<OE ?>4 DG>>6>4EF6>< 

?D5?>4464F5?O. �>E?5 F>7>, >4> ?D5?>4464F5?5< >5NO6?5=>, GF> D4EE<>FD5=<5 44==>= 

F5<O =4 4G4<F>D=OE 74=OF<OE 7465DL5=>, EFG45=F ?5D5E>4<F > E4<>EF>OF5?L=><G 

6O?>?=5=<N ?D4>F<G5E><E 7444=<=, ?>?L7GOEL >>=E?5>F>< ?5>F<= ?> 

E>>F65FEF6GNM5= F5<5, 74?<EO<<, E45?4==O<< =4 ?D4>F<G5E><E 74=OF<OE, 

4>?>?=<F5?L=>= ?<F5D4FGD>= ?> F5<5.  

�>47>F>6>4 > F5EF<D>64=<N ?D54GE<4FD<645F ?>6F>D5=<5 ?5>F<>==>7> 

<4F5D<4?4 < >E=>6=OE F5D<<=>6, 4 F4>65 E4<>EF>OF5?L=>5 6O?>?=5=<5 7444=<= 6 

F5>EF>6>= D>D<5, ?D<6545==OE 6 <5F>4<G5E><E D5>><5=44F<OE. 

6. %4<>>>=FD>?L O6?O5FEO >5O74F5?L=O< M?5<5=F>< E4<>EF>OF5?L=>= D45>FO 

EFG45=F4 ?> 4<EF<??<=5. �= ?>76>?O5F D>D<<D>64FL G<5=<O E4<>EF>OF5?L=> 

>>=FD>?<D>64FL < 445>64F=> >F5=<64FL D57G?LF4FO E6>5= GG55=>= 45OF5?L=>EF<  < =4 

MF>= >E=>65 G?D46?OFL ?D>F5EE>< >6?445=<O 7=4=<O<<. �6?445=<5 G<5=<O<< 

E4<>>>=FD>?O D>D<<DG5F =46O>< ??4=<D>64=<O GG55=>7> FDG44, E?>E>5EF6G5F 

G7?G5?5=<N 6=<<4=<O, ?4<OF< < 6OEFG?45F >4> 646=O= D4>F>D D476<F<O 

?>7=464F5?L=OE E?>E>5=>EF5=.  

%4<>>>=FD>?L 6>?NG45F:  

1. �F65F =4 6>?D>EO 4?O E4<>>>=FD>?O 4?O E4<>4=4?<74 7?G5<=O < ?D>G=>EF< 

7=4=<= < G<5=<= ?> 4<EF<??<=5. 

2. �D<F<G5E>GN >F5=>G D57G?LF4F>6 E6>5= ?>7=464F5?L=>= 45OF5?L=>EF<. 

%4<>>>=FD>?L GG55=>= 45OF5?L=>EF< ?>76>?O5F EFG45=FG >F5=<64FL 

MDD5>F<6=>EFL < D4F<>=4?L=>EFL ?D<<5=O5<OE <5F>4>6 < D>D< G<EF65==>7> FDG44, 

=4E>4<FL 4>?GE>45<O5 =54>G5FO < =4 MF>= >E=>65 ?D>6>4<FL =5>5E>4<<GN 

>>DD5>F<N E6>5= ?>7=464F5?L=>= 45OF5?L=>EF<.  

11. �5D5G5=L <=D>D<4F<>==OE F5E=>?>7<=, <E?>?L7G5<OE ?D< 

>EGM5EF6?5=<< >5D47>64F5?L=>7> ?D>F5EE4 ?> 4<EF<??<=5, 6>?NG4O 

?5D5G5=L ?D>7D4<<=>7> >55E?5G5=<O < <=D>D<4F<>==OE E?D46>G=OE 

E<EF5< (?D< =5>5E>4<<>EF<) 
 

1. MSDN subscriptions: Windows 7, Windows 8, Windows 10 (�>7>6>D 

IT000012385) 

2. Microsoft Office 

- Office 2007 Suites  

- Office Standard 2010  

- Office Std 2013 MAK   

- Office Standard 2016 MAK  

(�<F5=7<>==O= 4>7>6>D 7S0000000722 >F 21.12.2015 7. E ��� 

«�=&<46») 

3. %?D46>G=>-?D46>64O E<EF5<4 «�>=EG?LF4=F +» (4>7>6>D 7219894 >F 

19.12.2016 7.) 

4. SharePoint Server 2007 (�>7>6>D IT000012385) 

5. %6>5>4=> D4E?D>EFD4=O5<>5 < 55E??4F=>5 ��:  

- LibreOffice (https://ru.libreoffice.org/download/) 

- OpenOffice (https://ru.libreoffice.org/download/) 

 
12. �?<E4=<5 <4F5D<4?L=>-F5E=<G5E>>= 547O, =5>5E>4<<>= 4?O 
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>EGM5EF6?5=<O >5D47>64F5?L=>7> ?D>F5EE4 ?> 4<EF<??<=5 
 

'G55=4O 4G4<F>D<O 4?O ?D>6545=<O 74=OF<= ?5>F<>==>7> F<?4 < 

?45>D4F>D<< >4D54DO M>E?5DF<7O < G?D46?5=<O =546<6<<>EFLN, 7>D=>7> 

45?4, >E=4M5==O5 GG55=>= <555?LN: EF>?O, EFG?LO 4?O >5GG4NM<EEO; EF>?, 

EFG? 4?O ?D5?>4464F5?O; 4>E>4. �G?LF<<54<4F5=FD: =>GF5G> 

ASUSX50VLPMD T2330/14"/1024Mb/160Gb /EG<>4/ ?D>5>F>D inFocusIN24; 

<=F5D4>F<6=4O 4>E>4 Activboard 100 
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13. �E>55==>EF< D54?<74F<< 4<EF<??<=O 4?O <=64?<4>6 < ?<F E 

>7D4=<G5==O<< 6>7<>6=>EFO<< 74>D>6LO  

 

�D< >5GG5=<< ?<F E >7D4=<G5==O<< 6>7<>6=>EFO<< 74>D>6LO 

GG<FO64NFEO <E <=4<6<4G4?L=O5 ?E<E>D<7<G5E><5 >E>55==>EF<. �5GG5=<5 

<=64?<4>6 >EGM5EF6?O5FEO F4>65 6 E>>F65FEF6<< E <=4<6<4G4?L=>= 

?D>7D4<<>= D545<?<F4F<< <=64?<44 (?D< =4?<G<<).  

�?O ?<F E =4DGL5=<5< E?GE4 6>7<>6=> ?D54>EF46?5=<5 GG55=>= 

<=D>D<4F<< 6 6<7G4?L=>= D>D<5 (>D4F><= >>=E?5>F ?5>F<=; F5>EFO 7444=<=, 

=4?5G4F4==O5 G65?<G5==O< LD<DF><), =4 4G4<F>D=OE 74=OF<OE 4>?GE>45FEO 

?D<EGFEF6<5 4EE<EF5=F4, 4 F4>65 EGD4>?5D56>4G<>>6 < 

F<D?>EGD4>?5D56>4G<>>6. &5>GM<= >>=FD>?L GE?5645<>EF< >EGM5EF6?O5FEO 6 

?<EL<5==>= D>D<5: >5GG4NM<=EO ?<EL<5==> >F65G45F =4 6>?D>EO, ?<EL<5==> 

6O?>?=O5F ?D4>F<G5E><5 7444=<O. �>>?44 (D5D5D4F) F4>65 <>65F 5OFL 

?D54EF46?5= 6 ?<EL<5==>= D>D<5, ?D< MF>< FD55>64=<O > E>45D64=<N 

>EF4NFEO F5<< 65, 4 FD55>64=<O > >4G5EF6G <7?>65=<O <4F5D<4?4 (?>=OF=>EFL, 

>4G5EF6> D5G<, 674<<>45=EF6<5 E 4G4<F>D<5= < F. 4.) 74<5=ONFEO =4 

E>>F65FEF6GNM<5 FD55>64=<O, ?D54NO6?O5<O5 > ?<EL<5==O< D45>F4< 

(>4G5EF6> >D>D<?5=<O F5>EF4 < E?<E>4 ?<F5D4FGDO, 7D4<>F=>EFL, =4?<G<5 

<??NEFD4F<>==OE <4F5D<4?>6 < F.4.). �D><56GF>G=4O 4FF5EF4F<O 4?O ?<F E 

=4DGL5=<O<< E?GE4 ?D>6>4<FEO 6 ?<EL<5==>= D>D<5, ?D< MF>< <E?>?L7GNFEO 

>5M<5 >D<F5D<< >F5=<64=<O. �D< =5>5E>4<<>EF< 6D5<O ?>47>F>6>< > >F65FG 

<>65F 5OFL G65?<G5=>.  

�?O ?<F E =4DGL5=<5< 7D5=<O 4>?GE>45FEO 4G4<4?L=>5 ?D54>EF46?5=<5 

<=D>D<4F<<, 4 F4>65 <E?>?L7>64=<5 =4 4G4<F>D=OE 74=OF<OE  
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4.2. �45>D4F>D=O5 D45>FO < (<?<) ?D4>F<G5E><5 74=OF<O 
 

4.2.1. �D4>F<G5E><5 74=OF<O 
 

&45?<F4 4.2.1 3 �D4>F<G5E><5 74=OF<O  

 
7 �4<<5=>64=<5 ?D4>F<G5E>>7> 74=OF<O �5N5<, G4E 

1 

�6545=<5. &5?< < 7444G< 4<EF<??<=O. �E=>6=O5 ?>=OF<O. 

2, <7 =<E 

?D4>F<G5E>4O 

?>47>F>6>4 - 

2 

2 

-F4?O D476<F<O < >?4EE<D<>4F<O DO=>4 =546<6<<>EF<. �D>D5EE<O «�F5=-

M<> =546<6<<>EF<» 

0,4 

3 

�=4?<7 <EE>4=OE 44==OE ?D< >?D545?5=<< EF><<>EF< >5N5>F>6 =546<6<-

<>EF< 

0,4 

4 �E=>6=O5 MF4?O >F5=>< =546<6<<>7> <<GM5EF64 0,4 

5 �4FD4F=O= ?>4E>4 ?D< >F5=>5 =546<6<<>EF<. �?F<>=. 0,4 

6 &5=>>5D47>64=<5 6 EFD><F5?LEF65 0,4 

7 �<4O <7=>E4 >5N5>F4 =546<6<<>EF< < <5F>4O 57> >?D545?5=<O. 0,4 

8 %D46=<F5?L=O= ?>4E>4 ?D< >F5=>5 =546<6<<>EF< 0,4 

9 �>E>4=O= ?>4E>4 ?D< >F5=>5 =546<6<<>EF< 0,4 

10 %>7?4E>64=<5 D57G?LF4F>6 ?D< >F5=>5 =546<6<<>EF<. 0,4 

11 �D74=<74F<O ?D>F5EE4 >F5=>< =546<6<<>EF< 0,4 

�F>7> 

 6, <7 =<E 

?D4>F<G5E>4O 

?>47>F>6>4 - 

2 
 

4.3. %4<>EF>OF5?L=4O D45>F4 EFG45=F>6 (%$%) 
 

&45?<F4 4.3 3 %4<>EF>OF5?L=4O D45>F4 EFG45=F>6 
 

7 

D4745?4 

(F5<O) 

�4<<5=>64=<5 D4745?4 (F5<O) 4<EF<??<=O 
%D>> 

6O?>?=5=<O 

�D5<O, 74FD4-

G<645<>5 =4 

6O?>?=5=<5 %$%, 

G4E. 

1 
�6545=<5. &5?< < 7444G< 4<EF<??<=O. �E=>6=O5 

?>=OF<O. 
2 =545?O 14 

2 
-F4?O D476<F<O < >?4EE<D<>4F<O DO=>4 =546<-

6<<>EF<. �D>D5EE<O «�F5=M<> =546<6<<>EF<» 
2 =545?O 

14 

3 
�=4?<7 <EE>4=OE 44==OE ?D< >?D545?5=<< EF><-

<>EF< >5N5>F>6 =546<6<<>EF< 
4 =545?O 

14 

4 �E=>6=O5 MF4?O >F5=>< =546<6<<>7> <<GM5EF64 6 =545?O 14 

5 
�4FD4F=O= ?>4E>4 ?D< >F5=>5 =546<6<<>EF<. 

�?F<>=. 
8 =545?O 

14 

6 &5=>>5D47>64=<5 6 EFD><F5?LEF65 10 =545?O 14 

7 
�<4O <7=>E4 >5N5>F4 =546<6<<>EF< < <5F>4O 57> 

>?D545?5=<O. 
12 =545?O 

14 

8 
%D46=<F5?L=O= ?>4E>4 ?D< >F5=>5 =546<6<<>EF< 

12 =545?O 
14 

9 �>E>4=O= ?>4E>4 ?D< >F5=>5 =546<6<<>EF< 14 =545?O 14 
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10 
%>7?4E>64=<5 D57G?LF4F>6 ?D< >F5=>5 =546<6<-

<>EF<. 
16 =545?O 

14 

11 �D74=<74F<O ?D>F5EE4 >F5=>< =546<6<<>EF< 18 =545?O 20,88 

�F>7>  160,88 

 
5. �5D5G5=L GG55=>-<5F>4<G5E>>7> >55E?5G5=<O 4?O E4<>EF>OF5?L=>= 

D45>FO >5GG4NM<EEO ?> 4<EF<??<=5 
 

%FG45=FO <>7GF ?D< E4<>EF>OF5?L=>< <7GG5=<< >F45?L=OE F5< < 6>?D>E>6 

4<EF<??<= ?>?L7>64FLEO GG55=>-=47?O4=O<< ?>E>5<O<<, GG55=O< >5>DG4>64=<5< < 

<5F>4<G5E><<< D47D45>F>4<< >4D54DO 6 D45>G55 6D5<O, GEF4=>6?5==>5 �D46<?4<< 

6=GFD5==57> D4E?>DO4>4 D45>F=<>>6. 

'G55=>-<5F>4<G5E>>5 >55E?5G5=<5 4?O E4<>EF>OF5?L=>= D45>FO 

>5GG4NM<EEO ?> 44==>= 4<EF<??<=5 >D74=<7G5FEO: 

1. 5<5?<>F5>>= G=<65DE<F5F4: 

- 5<5?<>F5G=O= D>=4 G>><??5>F>64= GG55=>=, <5F>4<G5E>>=, =4GG=>=, ?5-

D<>4<G5E>>=, E?D46>G=>= < EG4>65EF65==>= ?<F5D4FGD>= 6 E>>F65FEF6<< E '� < 44=-

=>= $��; 

- <<55FEO 4>EFG? > >E=>6=O< <=D>D<4F<>==O< >5D47>64F5?L=O< D5EGDE4<, 

<=D>D<4F<>==>= 5475 44==OE, 6 F>< G<E?5 5<5?<>7D4D<G5E>>=, 6>7<>6=>EFL 6OE>-

44 6 �=F5D=5F. 

2. >4D54D>=: 

- ?GF5< >55E?5G5=<O 4>EFG?=>EF< 6E57> =5>5E>4<<>7> GG55=>-<5F>4<G5E>>7> 

< E?D46>G=>7> <4F5D<4?4; 

- ?GF5< ?D54>EF46?5=<O <=D>D<4F<< <7 GG55=<>>6, GG55=OE ?>E>5<= < 

?5D<>4<G5E><E <744=<= D>=44 >4D54DO (5<5?<>F5>4 >4D54DO); 

- ?GF5< ?D54>EF46?5=<O E6545=<= > =4?<G<< GG55=>-<5F>4<G5E>>= ?<F5D4-

FGDO, E>6D5<5==OE ?D>7D4<<=OE ED54EF6; 

- ?GF5< D47D45>F><: <5F>4<G5E><E D5>><5=44F<=, ?>E>5<= ?> >D74=<74F<< 

E4<>EF>OF5?L=>= D45>FO EFG45=F>6; 7444=<= 4?O E4<>EF>OF5?L=>= D45>FO; F5< 

4>>?44>6; 6>?D>E>6 > 74G5FG < F.4.  

3. F<?>7D4D<5= G=<65DE<F5F4: 

- ?><>ML 46F>D4< 6 ?>47>F>6>5 < <744=<< =4GG=>=, GG55=>= < <5F>4<G5E>>= 

?<F5D4FGDO; 

- G4>6?5F6>D5=<5 ?>FD55=>EF< 6 F<D46<D>64=<< =4GG=>=, GG55=>= < 

<5F>4<G5E>>= ?<F5D4FGDO. 

 

6. �5D47>64F5?L=O5 F5E=>?>7<< 
 

$54?<74F<O >><?5F5=F=>EF=>7> ?>4E>44 ?D54GE<4FD<645F L<D>>>5 

<E?>?L7>64=<5 6 >5D47>64F5?L=>< ?D>F5EE5 4>F<6=OE < <=F5D4>F<6=OE D>D< 

?D>6545=<O 74=OF<= 6 E>G5F4=<< E 6=54G4<F>D=>= D45>F>= E F5?LN 

D>D<<D>64=<O G=<65DE4?L=OE, >5M5?D>D5EE<>=4?L=OE < ?D>D5EE<>=4?L=OE 

>><?5F5=F<= >5GG4NM<EEO. � D4<>4E 4<EF<??<=O ?D54GE<>FD5=O 6EFD5G< E 

M>E?5DF4<< < E?5F<4?<EF4<< �><<F5F4 ?> FDG4G < 74=OF>EF< =4E5?5=<O 

�GDE>>= >5?4EF<. 

�D4>F<G5E>4O ?>47>F>6>4 >5GG4NM<EEO ?D< D54?<74F<< 4<EF<??<=O 

>EGM5EF6?O5FEO ?GF5< ?D>6545=<O ?D4>F<G5E><E 74=OF<=, 
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?D54GE<4FD<64NM<E GG4EF<5 >5GG4NM<EEO 6 6O?>?=5=<< >F45?L=OE 

M?5<5=F>6 D45>F, E6O74==OE E 5G4GM5= ?D>D5EE<>=4?L=>= 45OF5?L=>EFLN < 

=4?D46?5==OE =4 D>D<<D>64=<5, 74>D5??5=<5, D476<F<5 ?D4>F<G5E><E 

=46O>>6 < >><?5F5=F<= ?> =4?D46?5==>EF< (?D>D<?N, E?5F<4?<74F<<) 

?D>7D4<<O 54>4?46D<4F4 (E?5F<4?<F5F4). �D4>F<G5E>4O ?>47>F>6>4 6>?NG45F 

6 E55O >F45?L=O5 74=OF<O ?5>F<>==>7> F<?4, >>F>DO5 ?D>6>4OFEO 6 

?D>D<?L=OE >D74=<74F<OE < ?D54GE<4FD<64NF ?5D544GG GG55=>= <=D>D<4F<< 

>5GG4NM<<EO, =5>5E>4<<>= 4?O ?>E?54GNM57> 6O?>?=5=<O D45>F, E6O74==OE 

E 5G4GM5= ?D>D5EE<>=4?L=>= 45OF5?L=>EFLN. 

�D4>F<G5E>4O ?>47>F>6>4 >5GG4NM<EEO ?D< D54?<74F<< 4<EF<??<=O 

>D74=<7G5FEO 6 <>45?L=OE GE?>6<OE, 6 ?>?=>EFLN >5>DG4>64==OE 6 

?>4D4745?5=<OE G=<65DE<F5F4 6 ?45>D4F>D<OE >4D54DO M>E?5DF<7O < 

G?D46?5=<O =546<6<<>EFLN, 7>D=>7> 45?4. 

�D4>F<G5E>4O ?>47>F>6>4 >5GG4NM<EEO ?D>6>4<FEO 6 E>>F65FEF6<< E 

?>?>65=<5< � 02.181. 

%>45D64=<5 4<EF<??<=O >5?4445F 7=4G<F5?L=O< 6>E?<F4F5?L=O< 

?>F5=F<4?><, ?>E>>?L>G 6 =5< 4>>G<G?<D>64= <EF>D<G5E><= < E>6D5<5==O= 

=4GG=O= >?OF G5?>65G5EF64 =4 MF4?4E D476<F<O < >?4EE<D<>4F<< DO=>4 

=546<6<<>EF<. $54?<74F<O 6>E?<F4F5?L=>7> ?>F5=F<4?4 4<EF<??<=O 

>EGM5EF6?O5FEO 6 D4<>4E 54<=>7> >5D47>64F5?L=>7> < 6>E?<F4F5?L=>7> 

?D>F5EE4 < E?>E>5EF6G5F =5?D5DO6=><G D476<F<N ?<G=>EF< >464>7> 

>5GG4NM57>EO. �<EF<??<=4 6=>E<F 7=4G<<O= 6>?44 6 D>D<<D>64=<5 

?D>D5EE<>=4?L=>= >G?LFGDO >5GG4NM<EEO. %>45D64=<5 4<EF<??<=O E?>E>5-

EF6G5F ?D46>6><G, M>>=><<G5E>><G, ?D>D5EE<>=4?L=>-FDG4>6><G 6>E?<F4=<N 

>5GG4NM<EEO. 
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7. $>=4 >F5=>G=OE ED54EF6 4?O ?D>6545=<O ?D><56GF>G=>= 

4FF5EF4F<< >5GG4NM<EEO ?> 4<EF<??<=5 
 

7.1 �5D5G5=L >><?5F5=F<= E G>474=<5< MF4?>6 <E D>D<<D>64=<O 6 

?D>F5EE5 >E6>5=<O >E=>6=>= ?D>D5EE<>=4?L=>= >5D47>64F5?L=>= 

?D>7D4<<O 

 

&45?<F4 7.1 3 -F4?O D>D<<D>64=<O >><?5F5=F<= 
�>4 < E>45D64=<5 

>><?5F5=F<< 
-F4?O D>D<<D>64=<O >><?5F5=F<= < 4<EF<??<=O (<>4G?<), ?D< 

<7GG5=<< >>F>DOE D>D<<DG5FEO 44==4O >><?5F5=F<O 
=4G4?L=O= >E=>6=>= 7465DL4NM<= 

'�-2 %?>E>55= >?D545?OFL 

>DG7 7444G 6 D4<>4E ?>EF46-

?5==>= F5?< < 6O5<D4FL >?-

F<<4?L=O5 E?>E>5O <E D5-

L5=<O, <EE>4O <7 45=EF6GN-

M<E ?D46>6OE =>D<, <<5N-

M<EEO D5EGDE>6 < >7D4=<G5-
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�D<<5DO F<?>6OE >>=FD>?L=OE 7444=<= 4?O ?D>6545=<O 

F5>GM57> >>=FD>?O GE?5645<>EF< 

�>?D>EO 6 F5EF>6>= D>D<5 ?> D4745?G (F5<5) 1. «&5=>>5D47>64=<5 6 

EFD><-F5?LEF65»: 

1. %FDG>FGDG EFD><F5?L=>7> DO=>4 D>D<<DGNF: 

A. <=65EF>DO; 

�. 74>47G<><; 

B. �>4DO4G<><; 

�. ?>EF46M<>< <4F5D<4?L=OE D5EGDE>6; 

�. <=4<6<4G4?L=O5 74EFD>=M<><; 

�>?D>EO 4?O >>??>>6<G<4 ?> D4745?G (F5<5) 3. «�=4?<7 <EE>4=OE 

44==OE ?D< >?D545?5=<< EF><<>EF< >5N5>F>6 =546<6<<>EF<»: 

1. �E>55==>EF< DO=>4 =546<6<<>EF<. 

2. �D<<5=5=<5 <5F>4>6 <4F5<4F<G5E>>= EF4F<EF<>< 6 >F5=>5 

=546<6<<>EF<. 

3. �<4O EF><<>EF< >5N5>F4 =546<6<<>EF<. 

4. �O5>D EF46>> 4<E>>=F<D>64=<O. 

&5<O D5D5D4F>6: 

1. �>D<4F<6=>-?D46>6O5 >E=>6O >F5=>< >5N5>F>6 =546<6<<>EF<. 

2. �D<=F<? <4EE>6>= >F5=><. 

3. �5F>4 4=4?<74 ?D>5>F=>-E<5F=>= 4>>G<5=F4F<<. 

4. �?D545?5=<5 ?>?=>= 6>EEF4=>6<F5?L=>= EF><<>EF<. 

5. �?4EE<D<>4F<O DO=>4 =546<6<<>EF<. 

6. �F5=>4 >D<E=OE 744=<= < ?><5M5=<=. 

7. �E=>6=O5 74>>=><5D=>EF< D476<F<O DO=>4 6<?LO. 

�D><76>4EF65==4O 7444G4 4?O >>=FD>?O D57G?LF4F>6 ?D4>F<G5E>>= 

?>47>F>6>< >5GG4NM<EEO =4 ?D4>F<G5E>>< 74=OF<< 7  
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MF464E (=5 ?5D6O= < =5 ?>-E?54=<=) < D4E?>?>65==>= 6 10 <<=. %>4L5O 

?5L>>< 4> EF4=F<< <5FD> E>EF46?O5F 15 000 * X G.5. �>?>?=<F5?L=4O ??>M44L 

G65?<G<645F EF><<>EFL >64DF<DO =4 300*% G.5. 74 1 >6. <.. �4?<G<5 ?<DF4 

>F5=<645FEO 6 1000*% G.5., 5?<7>EFL E> EF4=F<5= <5F-D> G65?<G<645F 

EF><<>EFL =4 10%, =4?<G<5 54?>>=4 >F5=<645FEO 6 5 000*% G. 5. 

�>?=>EFLN >F5=>G=O5 <4F5D<4?O < >F5=>G=O5 ED54EF64 4?O ?D>6545=<O 

F5->GM57> >>=FD>?O GE?5645<>EF< ?D54EF46?5=O 6 '�� ?> 4<EF<??<=5. 

&<?>6O5 7444=<O 4?O ?D>6545=<O ?D><56GF>G=>= 4FF5EF4F<< 

>5GG4NM<EEO 

�D><56GF>G=4O 4FF5EF4F<O ?> 4<EF<??<=5 ?D>6>4<FEO 6 D>D<5 

M>74<5=4. ->74<5= ?D>6>4<FEO 6 6<45 F5EF<D>64=<O (5?4=>>6>7> </<?< 

>><?LNF5D=>7>). 

�?O F5EF<D>64=<O <E?>?L7GNFEO >>=FD>?L=>-<7<5D<F5?L=O5 <4F5D<4?O 

(���) - 6>?D>EO < 7444=<O 6 F5EF>6>= D>D<5, E>EF46?ONM<5 54=> F5EF>6OE 

7444=<= (�&�) ?> 4<EF<??<=5, GF65D645==O= 6 GEF4=>6?5==>< 6 G=<65DE<F5F5 

?>DO4>5. 

�D>65DO5<O<< =4 ?D><56GF>G=>= 4FF5EF4F<< M?5<5=F4<< E>45D64=<O 

O6?O-NFEO F5<O 4<EF<??<=O, G>474==O5 6 D4745?5 4 =4EF>OM5= ?D>7D4<<O. 

�E5 F5<O 4<EF<??<=O >FD465=O 6 ��� 6 D46=OE 4>?OE (%). �&� 6>?NG45F 6 

E55O =5 <5=55 100 7444=<= < ?>EF>O==> ?>?>?=O5FEO. �&� ED4=<FEO =4 

5G<46=>< =>E<F5?5 6 E>EF4-65 '�� < M?5>FD>==>< 6<45 6 -��% 

G=<65DE<F5F4. 

�?O ?D>65D>< 7=4=<= <E?>?L7GNFEO 6>?D>EO < 7444=<O 6 D47?<G=OE 

D>D<4E: 

-74>DOF>= (E 6O5>D>< >4=>7> <?< =5E>>?L><E ?D46<?L=OE >F65F>6), 

- >F>DOF>= (=5>5E>4<<> 6?<E4FL ?D46<?L=O= >F65F), 

- =4 GEF4=>6?5=<5 ?D46<?L=>= ?>E?54>64F5?L=>EF<, 

- =4 GEF4=>6?5=<5 E>>F65FEF6<O. 

$57G?LF4FO ?D4>F<G5E>>= ?>47>F>6>< (G<5=<O, =46O>< (<?< >?OF 

45OF5?L=>-EF<) < >><?5F5=F<<) ?D>65DONFEO E ?><>MLN >><?5F5=F=>EF=>-

>D<5=F<D>64==OE 7444G (E<FG4F<>==OE, ?D><76>4EF65==OE <?< >5=E>6>7> 

E4D4>F5D4) < D47?<G=>7> 6<-44 >>=EFDG>F>D>6. 

�E5 7444G< O6?ONFEO <=>7>E>4>6O<<. �5>>F>DO5 7444G<, ?D>65DONM<5 

GD>-65=L ED>D<<D>64==>EF< >><?5F5=F<=, O6?ONFEO <=>7>64D<4=F=O<<. 

'4EFL G<5=<=, =46O>>6 < >><?5F5=F<= ?DO<> =5 >FD465=4 6 D>D<G?<D>6>4E 
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� >464O= 64D<4=F ��� 6>?NG4NFEO 7444=<O ?> >464><G ?D>65DO5<><G 

M?5-<5=FG E>45D64=<O 6> 6E5E ?5D5G<E?5==OE 6OL5 D>D<4E < D47=>7> GD>6=O 
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7.4 �5F>4<G5E><5 <4F5D<4?O, >?D545?ONM<5 ?D>F54GDO >F5=<64=<O 

7=4=<=, G<5=<=, =46O>>6 < (<?<) >?OF4 45OF5?L=>EF<, E4D4>F5D<7GNM<E MF4?O 

D>D<<D>64=<O >><?5F5=F<= 
 

�D>F54GDO >F5=<64=<O 7=4=<=, G<5=<=, =46O>>6 < (<?<) >?OF4 45OF5?L=>EF<, 

E4D4>F5D<7GNM<E MF4?O D>D<<D>64=<O >><?5F5=F<=, D57G?<DGNFEO E?54GNM<<< 

=>D<4F<6=O<< 4>F4<< G=<65DE<F5F4:  
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$>D<4 >>=FD>?O 

�<=<<4?L=O= 54?? �4>E<<4?L=O= 54?? 
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7444=<O 4?O %$%, 4>?O 

?D46<?L=OE >F65F>6 5>?55 

50 % 

�F>7>6>5 >>?<G5EF6> 54??>6 74 
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F5EF<D>64=<O, <E?>?L7G5FEO E?54GNM4O <5F>4<>4 >F5=<64=<O 7=4=<=, G<5=<=, =46O>>6 < 

(<?<) >?OF4 45OF5?L=>EF<. %FG45=F E44UF F5EF =4 >><?LNF5D5 6 GG55=>< 746545=<<. � 

>464>< 64D<4=F5 ��� 3 20 (<?< 5>?55 / <5=55) F5EF>6OE 6>?D>E>6 (7444=<=). �4>E<<4?L=>5 

>>?<G5EF6> 54??>6 74 F5EF<D>64=<5 G 74>G=>= D>D<O >5GG5=<O - 60 54??>6. 
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=5>5E>4<<>= 4?O >E6>5=<O 4<EF<??<=O 

 

8.1�E=>6=4O GG55=4O ?<F5D4FGD4 

1. �4F65564, �. �. �D46>6>5 D57G?<D>64=<5 G?D46?5=<O =546<6<<>EFLN 

: GG55=>5 ?>E>5<5 / �. �. �4F65564, -. �. ,4DO?>64. 3 �>E>64 ; �5D?<= : 

�<D5>F-�54<4, 2020. 3 295 E. 3 

URL: https://biblioclub.ru/index.php?page=book&id=574365 (44F4 >5D4M5=<O: 

28.02.2023). 3 $56<< 4>EFG?4: ?> ?>4?<E>5. 3 &5>EF : M?5>FD>==O=. 

2. �4F65564, �. �. %45?>< E =546<6<<O< <<GM5EF6>< : GG55=>5 ?>E>5<5  

/ �. �. �4F65564. 3 �>E>64 ; �5D?<= : �<D5>F-�54<4, 2019. 3 296 E. 3 

URL: https://biblioclub.ru/index.php?page=book&id=564395 (44F4 >5D4M5=<O: 



25 
 

28.02.2023). 3 $56<< 4>EFG?4: ?> ?>4?<E>5. 3 &5>EF : M?5>FD>==O=. 

 

8.2�>?>?=<F5?L=4O GG55=4O ?<F5D4FGD4 

3. �E6?54<4=<, .. &. %FD4E>64=<5 : GG55=<> / .. &. �E6?54<4=<. 3 3-5 

<74., ?5D5D45. < 4>?. 3 �>E>64 : .=<F<-�4=4, 2020. 3 377 E.3 

URL: https://biblioclub.ru/index.php?page=book&id=692030 (44F4 >5D4M5=<O: 

28.02.2023). 3 $56<< 4>EFG?4: ?> ?>4?<E>5. 3 &5>EF : M?5>FD>==O=. 

4. �GDL56, �. �. %45?>< E =546<6<<>EFLN : ?D4>F<G5E>>5 ?>E>5<5 / 

�. �. �GDL56. 3 �>E>64 : �45>D4F>D<O >=<7<, 2010. 3 172 E. 

URL: https://biblioclub.ru/index.php?page=book&id=96821 (44F4 >5D4M5=<O: 

28.02.2023). 3 $56<< 4>EFG?4: ?> ?>4?<E>5. 3 &5>EF : M?5>FD>==O=. 

5. �E=>6O F5>D<< EFD4E>64=<O : GG55=<> / �. �. %>G5D<=, 

�. �. �5?L=<GG>, �. �. ,4F4564, �. �. %46<=>6. 3 �>E>64 ; �5D?<= : �<D5>F-

�54<4, 2020. 3 501 E. 3 

URL: https://biblioclub.ru/index.php?page=book&id=601367 (44F4 >5D4M5=<O: 

28.02.2023). 3 $56<< 4>EFG?4: ?> ?>4?<E>5. 3 &5>EF : M?5>FD>==O=. 

 

8.3. �5D5G5=L <5F>4<G5E><E G>474=<= 

6. �F5=>4 >5N5>F>6 =546<6<<>EF< : <5F>4<G5E><5 G>474=<O ?> 

6O?>?=5=<N ?D4>F<G5E><E D45>F 4?O EFG45=F>6 =4?D46?5=<= ?>47>F>6>< 

08.03.01 «%FD><F5?LEF6>», 21.03.02. «�5<?5GEFD>=EF6> < >444EFDO» / .7>-�4?. 

7>E. G=-F ; E>EF. �. �. ,?55=>>. - -?5>FD>=. F5>EF>6O5 44=. (362 ��). - �GDE> : 

.��', 2021. - 19 E. - �47?. E F<FG?. M>D4=4. - �. F. - &5>EF : M?5>FD>==O= 

7. %4<>EF>OF5?L=4O D45>F4 EFG45=F>6 : <5F>4<G5E><5 G>474=<O ?> 
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>444EFDO / .7>-�4?. 7>E. G=-F ; E>EF.: �. �. �DO7<=4, &. �. �>6<>>64. - 

-?5>FD>=. F5>EF>6O5 44=. (373 ��). - �GDE> : .��', 2017. - 31 E. - �. F. - &5>EF 

: M?5>FD>==O=. 

8. %4<>EF>OF5?L=4O D45>F4 EFG45=F>6 : <5F>4<G5E><5 G>474=<O ?> 

>D74=<74F<< E4<>EF>OF5?L=>= D45>FO EFG45=F>6, >5GG4NM<EEO ?> 

?D>7D4<<4< 54>4?46D<4F4 < <47<EFD4FGDO ?> =4?D46?5=<O< ?>47>F>6>< 

08.03.01 %FD><F5?LEF6>, 08.04.01 %FD><F5?LEF6>, 13.03.01 &5??>M=5D75F<>4 < 

F5??>F5E=<>4, 13.04.01 &5??>M=5D75F<>4 < F5??>F5E=<>4 / .7>-�4?. 7>E. G=-F ; 

E>EF.: �. �. %5<<G564 [< 4D.]. - -?5>FD>=. F5>EF>6O5 44=. (986 ��). - �GDE> : 

.��', 2022. - 39 E. - �47?. E F<FG?. M>D4=4. - �. F. 

 

8.4. �DG7<5 GG55=>-<5F>4<G5E><5 <4F5D<4?O 

�GD=4?O (?5D<>4<G5E><5 <744=<O): 

1. �765EF<O .��'. 

2. �765EF<O .��'. %5D<O: ->>=><<>4. %>F<>?>7<O. �5=546<5=F. 

 

9. �5D5G5=L D5EGDE>6 <=D>D<4F<>==>-F5?5>><<G=<>4F<>==>= E5F< 

�=F5D=5F, =5>5E>4<<OE 4?O >E6>5=<O 4<EF<??<=O 
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1. '=<65DE<F5FE>4O 5<5?<>F5>4 >=?4== - www.biblioclub.ru 

2. �4GG=4O 5<5?<>F5>4 .7>-�4?44=>7> 7>EG44DEF65==>7> G=<65DE<F5F4  

http://www.lib.swsu.ru/2011-02-23-15-22-58/2012-08-30-06-40-55.html 

3. �4GG=4O M?5>FD>==4O 5<5?<>F5>4 eLibrary.ru (>D<F<4?L=O= E4=F) -  

http://elibrary.ru 
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1. �765EF<O .��'. 
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9. �5D5G5=L D5EGDE>6 <=D>D<4F<>==>-F5?5>><<G=<>4F<>==>= E5F< 
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3. �4GG=4O M?5>FD>==4O 5<5?<>F5>4 eLibrary.ru (>D<F<4?L=O= E4=F) -  

http://elibrary.ru  

4. %?D46>G=>-?><E>>64O E<EF5<4 �>=EG?LF4=F�?NE -  www.Eonsultant.ru 

 

10. �5F>4<G5E><5 G>474=<O 4?O >5GG4NM<EEO ?> >E6>5=<N 

4<EF<??<=O 
 

�E=>6=O<< 6<44<< 4G4<F>D=>= D45>FO EFG45=F4 ?D< <7GG5=<< 4<EF<??<=O 

O6?ONFEO ?5>F<< < ?D4>F<G5E><5 74=OF<O. %FG45=F =5 <<55F ?D464 ?D>?GE>4FL 

74=OF<O 557 G646<F5?L=OE ?D<G<=.  

� D4<>4E <7GG5=<O 4<EF<??<=O D45>F4 EFG45=F>6 >D74=<7G5FEO 6 E?54GNM<E 

D>D<4E:  

1. $45>F4 E >>=E?5>F>< ?5>F<= < 4>?>?=<F5?L=>= ?<F5D4FGD>= ?> F5<4< >GDE4. 

2. $45>F4 E D4744F>G=O< <4F5D<4?>< 3 «%>D<=-L>F». 

3. �7GG5=<5 6>?D>E>6, 6O=>E<<OE 74 D4<>< ?5>F<>==OE 74=OF<= 

(4<E>GEE<>==O5 6>?D>EO 4?O 4>?>?=<F5?L=>7> <7GG5=<O). 

4. �>47>F>6>4 > E5<<=4DE>><G 74=OF<N. 

5. �O?>?=5=<5 7DG??>6OE  < <=4<6<4G4?L=OE 4><4L=<E 7444=<=, 6 F>< G<E?5: 

- ?D>6545=<5 E>55E54>64=<O ?> F5<5 ?5>F<<; 

- ?>47>F>6>4 >D4F>>7> 4>>?444 (D57N<5, MEE5) ?> F5<5 E5<<=4DE>>7> 74=OF<O <  

D47D45>F>4 <G?LF<<54<==>= ?D575=F4F<< > =5<G; 

- 6O?>?=5=<5 ?D4>F<G5E><E 7444=<= (D5L5=<5 7444G, 6O?>?=5=<5 D4EG5F=OE < 

?45>D4F>D=OE D45>F);  

- ?>47>F>6>4 > F5EF<D>64=<N; 

6. %4<>>>=FD>?L. 

$5>><5=4G5<O= =<65 D56<< E4<>EF>OF5?L=>= D45>FO ?>76>?<F EFG45=F4< 

7?G5>>> D47>5D4FLEO 6> 6E5E <7GG45<OE 6>?D>E4E, 4>F<6=> GG4EF6>64FL 6 4<E>GEE<OE 

=4 E5<<=4DE><E 74=OF<OE < 6 >>=5G=>< <F>75 GE?5L=> E44FL 74G5F ?> 4<EF<??<=5. 
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1. �5>F<O O6?O5FEO DG=44<5=F4?L=O< <EF>G=<>>< 7=4=<= < 4>?6=4 

E?>E>5EF6>64FL 7?G5>>><G GE6>5=<N <4F5D<4?4, 4>F<6<7<D>64FL <=F5D5E EFG45=F4 > 

<7GG45<>= 4<EF<??<=5.  

$45>FG E >>=E?5>F>< ?5>F<= F5?5E>>5D47=> ?D>6>4<FL =5?>ED54EF65==> ?>E?5 

5U ?D>E?GL<64=<O. �=4 ?D54?>?4745F ?5D5G<FO64=<5 >>=E?5>F4, 6=5E5=<5 6 =57>, ?> 

=5>5E>4<<>EF<, GF>G=5=<=, 4>?>?=5=<=, D47NOE=5=<= < <7<5=5=<=. �7=4>><?5=<5 E  

4>?>?=<F5?L=>= ?<F5D4FGD>= ?> F5<5, ?D>6545=<5 >57>D4 <=5=<= 4DG7<E GG5==OE 

?> <7GG45<>= F5<5. �5>5E>4<<O< O6?O5FEO 7?G5>>>5 >E6>5=<5 E>45D64=<O ?5>F<< < 

E6>5>4=>5 6?445=<5 <<, 6 F>< G<E?5 <E?>?L7>64==>= 6 =5= F5D<<=>?>7<< (?>=OF<=), 

>4F57>D<= < 74>>=>6. %FG45=FG D5>><5=4G5FEO =5 >7D4=<G<64FLEO ?D< <7GG5=<< F5<O 

F>?L>> >>=E?5>F>< ?5>F<= <?< >4=<< GG55=<>><; =5>5E>4<<> =5 F>?L>> 

>>=E?5>F<D>64FL ?5>F<<, => < G<F4FL 4>?>?=<F5?L=GN ?<F5D4FGDG, <7GG4FL 

<5F>4<G5E><5 D5>><5=44F<<, <744645<O5 >4D54D>=.   

2. «%>D<=-L>F» - E?5F<4?L=O= D4744F>G=O= <4F5D<4?, ?>47>F>6?5==O= 

?D5?>4464F5?5<, >>F>DO= ?D54=47=4G5= 4?O ?>6OL5=<O MDD5>F<6=>EF< GG55=>7> 

?D>F5EE4 74 EG5F: 

- ?D<6?5G5=<O 4>?>?=<F5?L=>7> 6=<<4=<O EFG45=F4 =4 =4<5>?55 646=OE < 

E?>6=OE ?D>5?5<4E >GDE4; 

- >E6>5>645=<O >F =5>5E>4<<>EF< 6545=<O DGF<==OE 74?<E5= ?> E>4G ?5>F<< 

< 6>7<>6=>EF< 5>?55 445>64F=>= D<>E4F<< >?NG56OE ?>?>65=<= ?5>F<<; 

- ?D54EF46?5=<O 6E57> =5>5E>4<<>7> <??NEFD4F<6=>7> < E?D46>G=>-

<=D>D<4F<>==>7> <4F5D<4?4 ?> F5<5 ?5>F<<; 

- 5>?55 7?G5>>>= ?5D5D45>F>< <4F5D<4?>6 >GDE4 ?D< ?>47>F>6>5 > 74G5FG <?< 

M>74<5=G. 

%4<>EF>OF5?L=4O D45>F4 E D4744F>G=O< <4F5D<4?>< «%>D<=-L>F» <>65F 

?D>6>4<FLEO 6<5EF> D45>FO E >>=E?5>F>< ?5>F<=, 5E?< >><?>7<F<O >464>= 

EFD4=<FO <4F5D<4?4 ?>EFD>5=4 ?5>F>D>< F4><< >5D47><, GF> 4>EF4F>G=> E6>5>4=>7> 

<5EF4 4?O >>=E?5>F<D>64=<O <4F5D<4?>6 ?5>F<<, >><<5=F4D<56 < 6OD465=<O 

E>5EF65==OE <OE?5= EFG45=F4 ?> <4F5D<4?4< GE?OL4==>7> <?< ?D>G<F4==>7>.  

� E?GG45, >>744 EFG45=FO 654GF >F45?L=O5 >>=E?5>FO ?5>F<=, D45>F4 E 

D4744F>G=O< <4F5D<4?>< «%>D<=-L>F» ?D>6>4<FEO 6<5EF5 E D45>F>= E >>=E?5>F>< 

?5>F<= ?> >464>= F5<5. 

3. � E6O7< E 5>?LL<< >5N5<>< <7GG45<>7> <4F5D<4?4, <=F5D5E>< >>F>DO= >= 

?D54EF46?O5F 4?O E>6D5<5==>7> >5D47>64==>7> G5?>65>4, =5>>F>DO5 6>?D>EO 

6O=>EOFEO 74 D4<>< ?5>F<=. -F> ?D54GE<>FD5=> GG55=O< ??4=>< ?>47>F>6>< 

54>4?46D>6. �7GG5=<5 6>?D>E>6, 6O=>E<<OE 74 D4<>< ?5>F<>==OE 74=OF<= 

(4<E>GEE<>==OE 6>?D>E>6), ?D54?>?4745F E4<>EF>OF5?L=>5 <7GG5=<5 EFG45=F4<< 

4>?>?=<F5?L=>= ?<F5D4FGDO < 5U >>=E?5>F<D>64=<5 ?> MF<< 6>?D>E4<. 

4. � E>45 ?D4>F<G5E><E 74=OF<= ?D>6>4<FEO D47NOE=5=<5 F5>D5F<G5E><E 

?>?>65=<= >GDE4, GF>G=5=<O <564<EF<??<=4D=OE E6O75=.  

�>47>F>6>4 > ?D4>F<G5E>><G (E5<<=4DE>><G) 74=OF<N ?D54?>?4745F 

5>?LLGN E4<>EF>OF5?L=GN D45>FG < 6>?NG45F 6 E55O: 

- �=4>><EF6> E ??4=>< E5<<=4DE>>7> 74=OF<O < ?>45>D <4F5D<4?4 > =5<G ?> 

G>474==O< <EF>G=<>4< (>>=E?5>F ?5>F<<, >E=>6=4O, E?D46>G=4O < 4>?>?=<F5?L=4O 

?<F5D4FGD4, M?5>FD>==O5 < �=F5D=5F-D5EGDEO). 

- �4?><<=4=<5 ?>4>5D4==>7> ?> ??4=G  <4F5D<4?4. 

- �E6>5=<5 F5D<<=>6, ?5D5G<E?5==OE 6 7?>EE4D<<. 

- �F65FO =4 6>?D>EO, ?D<6545==O5 > >464>= F5<5. 
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- �54G<O64=<5 6>?D>E>6 4?O >5EG645=<O. �O46<65=<5 E>5EF65==OE 

64D<4=F>6 >F65F4.  

- �O?>?=5=<5 7444=<= ?D5?>4464F5?O. 

- �>47>F>6>4 (6O5>D>G=>) <=4<6<4G4?L=OE 7444=<=. 

�444=<O, ?D<6545==O5 6 ??4=4E 74=OF<=, 6O?>?=ONFEO 6E5<< EFG45=F4<< 6 

>5O74F5?L=>< ?>DO4>5.  

5. �O?>?=5=<5 7DG??>6OE  < <=4<6<4G4?L=OE 4><4L=<E 7444=<= O6?O5FEO 

>5O74F5?L=>= D>D<>= E4<>EF>OF5?L=>= D45>FO EFG45=F>6. �> 4<EF<??<=5 >=4 

?D54?>?4745F  ?>47>F>6>G <=4<6<4G4?L=OE <?< 7DG??>6OE (=4 GE<>FD5=<5 

?D5?>4464F5?O) 4>>?44>6 (E>>5M5=<=, D5D5D4F>6, MEE5, F6>DG5E><E 7444=<=) =4 

E5<<=4DE><E 74=OF<OE <  D47D45>F>G <G?LF<<54<==>= ?D575=F4F<< > =5<G. 

�>>?44 - ?D>4G>F E4<>EF>OF5?L=>= D45>FO EFG45=F4, ?D54EF46?ONM<= E>5>= 

?G5?<G=>5 6OEFG??5=<5 ?> ?D54EF46?5=<N ?>?GG5==OE D57G?LF4F>6 D5L5=<O 

>?D545?5==>= GG55=>-?D4>F<G5E>>=, GG55=>-<EE?54>64F5?LE>>= <?< =4GG=>= F5<O.  

$5D5D4F - ?D>4G>F E4<>EF>OF5?L=>= D45>FO EFG45=F4, ?D54EF46?ONM<= E>5>= 

>D4F>>5 <7?>65=<5 6 ?<EL<5==>< 6<45 ?>?GG5==OE D57G?LF4F>6 F5>D5F<G5E>>7> 

4=4?<74 >?D545?5==>= =4GG=>= (GG55=>-<EE?54>64F5?LE>>=) F5<O, 745 46F>D 

D4E>DO645F EGFL <EE?54G5<>= ?D>5?5<O, ?D<6>4<F D47?<G=O5 F>G>< 7D5=<O, 4 F4>65 

E>5EF65==O5 677?O4O =4 =55, ?D<6>4<F E?<E>> <E?>?L7G5<OE <EF>G=<>>6.  

-EE5 - ED54EF6>, ?>76>?ONM55 >F5=<FL G<5=<5 >5GG4NM57>EO ?<EL<5==> 

<7?474FL EGFL ?>EF46?5==>= ?D>5?5<O, E4<>EF>OF5?L=> ?D>6>4<FL 4=4?<7 ?D>5?5<O 

E <E?>?L7>64=<5< >>=F5?F<= < 4=4?<F<G5E>>7> <=EFDG<5=F4D<O E>>F65FEF6GNM5= 

4<EF<??<=O, 45?4FL 6O6>4O, >5>5M4NM<5 46F>DE>GN ?>7<F<N ?> ?>EF46?5==>= 

?D>5?5<5. 

&6>DG5E>>5 7444=<5 - G4EF<G=> D57?4<5=F<D>64==>5 7444=<5, <<5NM55 

=5EF4=44DF=>5 D5L5=<5 < ?>76>?ONM55 4<47=>EF<D>64FL G<5=<O, <=F57D<D>64FL 

7=4=<O D47?<G=OE >5?4EF5=, 4D7G<5=F<D>64FL E>5EF65==GN F>G>G 7D5=<O. �>65F 

6O?>?=OFLEO 6 <=4<6<4G4?L=>< ?>DO4>5 <?< 7DG??>= >5GG4NM<EEO. 

 �D5?>4464F5?L E4< D>D<<DG5F 7444=<5 <?< EFG45=FO <<5NF 6>7<>6=>EFL 

E4<>EF>OF5?L=> 6O5D4FL >4=G <7 ?D54?>?4745<OE ?D5?>4464F5?5< F5< < 6OEFG?<FL 

=4 E5<<=4DE>>< 74=OF<<. �>>?44 (D57N<5, MEE5 < F.4.) >4> D>D<4 E4<>EF>OF5?L=>= 

GG55=>= 45OF5?L=>EF< EFG45=F>6 ?D54EF46?O5F E>5>= D4EEG645=<5 =4 >?D545?5==GN 

F5<G =4 >E=>65 >57>D4 =5E>>?L><E <EF>G=<>>6 6 F5?OE 4>>474F5?LEF64 <?< 

>?D>65D65=<O >4>>7>-?<5> F57<E4.  �=D>D<4F<O <EF>G=<>>6 <E?>?L7G5FEO 4?O 

4D7G<5=F4F<<, <??NEFD4F<< < F.4. E6><E <OE?5=. &5?L =4?<E4=<O F4>>7> 

D4EEG645=<O =5 4G5?<D>64=<5 <<5NM5=EO ?<F5D4FGDO =4 MFG F5<G, 4 ?>47>F>6>4 

EFG45=F>6 > ?D>6545=<N E>5EF65==>7> =4GG=>7> <EE?54>64=<O, > ?D46<?L=><G 

>D>D<?5=<N 57> >?<E4=<O 6 E>>F65FEF6<< E FD55>64=<O<<.  

$45>F4 EFG45=F>6 ?> ?>47>F>6>5 4>>?444 (E>>5M5=<O, D5D5D4F>6, MEE5, 

F6>DG5E><E 7444=<=) 74>?NG45FEO 6 E?54GNM5<: 

- ?>45>D =4GG=>= ?<F5D4FGDO ?> 6O5D4==>= F5<5; 

- D45>F4 E ?<F5D4FGD>=, >F5>D <=D>D<4F<<, >>F>D4O E>>F65FEF6G5F F5<5 < 

?><>745F 4>>474FL F57<EO; 

- 4=4?<7 ?D>5?5<O, D4>F>6, O6?5=<=; 

- E<EF5<4F<74F<O < >5>5M5=<5 44==OE, D>D<G?<D>6>4 6O6>4>6;  

- >F5=>4 F5>D5F<G5E>>7> < ?D4>F<G5E>>7> 7=4G5=<O D4EE<4FD<645<>= 

?D>5?5<O; 

- 4D7G<5=F4F<O E6>57> <=5=<O, >F5=>>, 6O6>4>6, ?D54?>65=<=;   
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- 6OEFD4<64=<5 ?>7<>< <7?>65=<O; 

- G>474=<5 <EF>G=<>>6 <=D>D<4F<<, 46F>D>6 <7?4745<OE F>G5> 7D5=<O;  

- ?D46<?L=>5 >D>D<?5=<5 D45>FO (EEO?><, E?<E>> <E?>?L7>64==>= 

?<F5D4FGDO, D<EG=><, F45?<FO) ?> EF4=44DFG.  

%4<>EF>OF5?L=>EFL EFG45=F4 ?D< ?>47>F>6>5 4>>?444 (E>>5M5=<5, MEE5) 

?D>O6?O5FEO 6 6O5>D5 F5<O, D4>GDE4 5U D4EE<>FD5=<O, <EF>G=<>>6 4?O D4E>DOF<O 

F5<O, F57<E>6, 4D7G<5=F>6 4?O <E 4>>474F5?LEF64, >>=>D5F=>= <=D>D<4F<< <7 

<EF>G=<>>6, E?>E>54 EFDG>FGD<D>64=<O < >5>5M5=<O <=D>D<4F<<, EFDG>FGDO 

<7?>65=<O, 4 F4>65 6 >5>E=>64=<< 6O5>D4 F5<O, 6 >F5=>5 5U 4>FG4?L=>EF<, 

?D4>F<G5E>>7> < F5>D5F<G5E>>7> 7=4G5=<O, 6 6O6>44E.  

�OEFG??5=<5 E 4>>?44>< (D57N<5, MEE5) =4 E5<<=4D5 =5 4>?6=> ?D56OL4FL 7-

10 <<=GF. �>E?5 GEF=>7> 6OEFG??5=<O 46F>D >F65G45F =4 6>?D>EO 4G4<F>D<< 

(EFG45=F>6, ?D5?>4464F5?O) ?> F5<5 < E>45D64=<N E6>57> 6OEFG??5=<O.  

&5?L < 7444G< 44==>7> 6<44 E4<>EF>OF5?L=>= D45>FO EFG45=F>6 >?D545?ONF 

FD55>64=<O, ?D54NO6?O5<O5 > 4>>?44G (D57N<5, MEE5), < >D<F5D<<  57> >F5=><:  

1) ?>7<G5E>4O ?>E?54>64F5?L=>EFL <7?>65=<O;  

2) 4D7G<5=F<D>64==>EFL >F5=>> < 6O6>4>6, 4>>474==>EFL F57<E4;  

3) OE=>EFL < ?D>EF>F4 <7?>65=<O <OE?5= (>FEGFEF6<5 <=>7>E?>6<O < 

<7?<L=57> =4G>>>5D47<O);  

4) E4<>EF>OF5?L=>EFL <7?>65=<O <4F5D<4?4 <EF>G=<>>6;  

5) >>DD5>F=>5 G>474=<5 6 F5>EF5 4>>?444 <EF>G=<>>6 <=D>D<4F<<, 46F>D>6 

?D>6>4<<OE F>G5> 7D5=<O;  

6) EF<?<EF<G5E>4O ?D46<?L=>EFL < 6OD47<F5?L=>EFL (6O5>D O7O>>6OE ED54EF6, 

E>>F65FEF6GNM<E =4GG=><G EF<?N D5G<);  

7) G<5EF=>5 <E?>?L7>64=<5 <??NEFD4F<6=OE ED54EF6 (F<F4F, E=>E>>, D<EG=>>6, 

F45?<F, E?4=4>6).  

�7?>65=<5 <4F5D<4?>6 4>>?444 <>65F E>?D>6>644FLEO <G?LF<<54<==>= 

?D575=F4F<5=. $47D45>F>4 <G?LF<<54<==>= ?D575=F4F<< 6O?>?=O5FEO  ?> 

FD55>64=<N ?D5?>4464F5?O <?< ?> 65?4=<N EFG45=F4.  

�D575=F4F<O 4>?6=4 5OFL 6O?>?=5=4 6 ?D>7D4<<5 Power Point < 6>?NG4FL 

F4>>5 >>?<G5EF6>  E?4=4>6, >4>>5 =5>5E>4<<> 4?O <??NEFD<D>64=<O <4F5D<4?4 

4>>?444 6 ?>?=>< >5N5<5. 

�E=>6=O5 <5F>4<G5E><5 FD55>64=<O, ?D54NO6?O5<O5 > ?D575=F4F<<:  

- ?>7<G=>EFL ?D54EF46?5=<O E E>7?4E>64==>EFL F5>EF>6>7> < 6<7G4?L=>7> 

<4F5D<4?4; 

- E>>F65FEF6<5 E>45D64=<O ?D575=F4F<< 6O5D4==>= F5<5 < 6O5D4==>7> 

?D<=F<?4 <7?>65=<O / DG5D<>4F<<  <=D>D<4F<< (ED>=>?>7<G5E><=, 

>?4EE<D<>4F<>==O=, DG=>F<>=4?L=>-F5?56>= < 4D.); 

- E>D47<5D=>EFL (=5>5E>4<<4O < 4>EF4F>G=4O ?D>?>DF<>=4?L=>EFL) F5>EF4 < 

6<7G4?L=>7> DO44  =4 >464>< E?4=45 (=5 <5=55 50% - 50%, <?< =4 10-20% 5>?55 6 

EF>D>=G 6<7G4?L=>7> DO44); 

- >><D>DF=>EFL 6>E?D<OF<O E M>D4=4 (F65F D>=4; D47<5D < G5F>>EFL LD<DF4); 

- MEF5F<G=>EFL >D>D<?5=<O (6=GFD5==55 54<=EF6> <E?>?L7G5<OE L45?>=>6 

?D54NO6?5=<O <=D>D<4F<<; G?>DO4>G5==>EFL < 6OD47<F5?L=>EFL 7D4D<G5E><E < 

<7>5D47<F5?L=OE M?5<5=F>6); 

- 4>?GE>45FEO =4?<G<5 4=<<4F<>==OE < 76G>>6OE MDD5>F>6. 

�F5=>4 4>>?444 (D57N<5, MEE5) ?D><76>4<FEO 6 D4<>4E 12-54??L=>7> 

F6>DG5E>>7> D5=F<=74 45=EF6GNM5= 6 .��' 54??L=>-D5=F<=7>6>= >F5=>< 
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GE?5645<>EF< < >4G5EF64 7=4=<= EFG45=F>6. �F>7>64O >F5=>4 O6?O5FEO EG<<>= 

54??>6, 6OEF46?O5<OE ?D5?>4464F5?5< E GG5F>< <=5=<O 4DG7<E EFG45=F>6 ?> 

>464><G <7 ?5D5G<E?5==OE 6OL5 <5F>4<G5E><E FD55>64=<= > 4>>?44G < 

?D575=F4F<<.  

�> 4<EF<??<=5 F4>65 D>D<>= E4<>EF>OF5?L=>= D45>FO EFG45=F>6 O6?O5FEO 

6O?>?=5=<5 ?D4>F<G5E><E 7444=<=. '4EFL ?D4>F<G5E><E 7444=<= <>65F 5OFL 

6O?>?=5=4 EFG45=F4<< =4 4G4<F>D=OE ?D4>F<G5E><E 74=OF<OE ?>4 DG>>6>4EF6>< 

?D5?>4464F5?O. �>E?5 F>7>, >4> ?D5?>4464F5?5< >5NO6?5=>, GF> D4EE<>FD5=<5 44==>= 

F5<O =4 4G4<F>D=OE 74=OF<OE 7465DL5=>, EFG45=F ?5D5E>4<F > E4<>EF>OF5?L=><G 

6O?>?=5=<N ?D4>F<G5E><E 7444=<=, ?>?L7GOEL >>=E?5>F>< ?5>F<= ?> 

E>>F65FEF6GNM5= F5<5, 74?<EO<<, E45?4==O<< =4 ?D4>F<G5E><E 74=OF<OE, 

4>?>?=<F5?L=>= ?<F5D4FGD>= ?> F5<5.  

�>47>F>6>4 > F5EF<D>64=<N ?D54GE<4FD<645F ?>6F>D5=<5 ?5>F<>==>7> 

<4F5D<4?4 < >E=>6=OE F5D<<=>6, 4 F4>65 E4<>EF>OF5?L=>5 6O?>?=5=<5 7444=<= 6 

F5>EF>6>= D>D<5, ?D<6545==OE 6 <5F>4<G5E><E D5>><5=44F<OE. 

6. %4<>>>=FD>?L O6?O5FEO >5O74F5?L=O< M?5<5=F>< E4<>EF>OF5?L=>= D45>FO 

EFG45=F4 ?> 4<EF<??<=5. �= ?>76>?O5F D>D<<D>64FL G<5=<O E4<>EF>OF5?L=> 

>>=FD>?<D>64FL < 445>64F=> >F5=<64FL D57G?LF4FO E6>5= GG55=>= 45OF5?L=>EF<  < =4 

MF>= >E=>65 G?D46?OFL ?D>F5EE>< >6?445=<O 7=4=<O<<. �6?445=<5 G<5=<O<< 

E4<>>>=FD>?O D>D<<DG5F =46O>< ??4=<D>64=<O GG55=>7> FDG44, E?>E>5EF6G5F 

G7?G5?5=<N 6=<<4=<O, ?4<OF< < 6OEFG?45F >4> 646=O= D4>F>D D476<F<O 

?>7=464F5?L=OE E?>E>5=>EF5=.  

%4<>>>=FD>?L 6>?NG45F:  

1. �F65F =4 6>?D>EO 4?O E4<>>>=FD>?O 4?O E4<>4=4?<74 7?G5<=O < ?D>G=>EF< 

7=4=<= < G<5=<= ?> 4<EF<??<=5. 

2. �D<F<G5E>GN >F5=>G D57G?LF4F>6 E6>5= ?>7=464F5?L=>= 45OF5?L=>EF<. 

%4<>>>=FD>?L GG55=>= 45OF5?L=>EF< ?>76>?O5F EFG45=FG >F5=<64FL 

MDD5>F<6=>EFL < D4F<>=4?L=>EFL ?D<<5=O5<OE <5F>4>6 < D>D< G<EF65==>7> FDG44, 

=4E>4<FL 4>?GE>45<O5 =54>G5FO < =4 MF>= >E=>65 ?D>6>4<FL =5>5E>4<<GN 

>>DD5>F<N E6>5= ?>7=464F5?L=>= 45OF5?L=>EF<.  

11. �5D5G5=L <=D>D<4F<>==OE F5E=>?>7<=, <E?>?L7G5<OE ?D< 

>EGM5EF6?5=<< >5D47>64F5?L=>7> ?D>F5EE4 ?> 4<EF<??<=5, 6>?NG4O 

?5D5G5=L ?D>7D4<<=>7> >55E?5G5=<O < <=D>D<4F<>==OE E?D46>G=OE 

E<EF5< (?D< =5>5E>4<<>EF<) 
 

1. MSDN subscriptions: Windows 7, Windows 8, Windows 10 (�>7>6>D 

IT000012385) 

2. Microsoft Office 

- Office 2007 Suites  

- Office Standard 2010  

- Office Std 2013 MAK   

- Office Standard 2016 MAK  

(�<F5=7<>==O= 4>7>6>D 7S0000000722 >F 21.12.2015 7. E ��� 

«�=&<46») 

3. %?D46>G=>-?D46>64O E<EF5<4 «�>=EG?LF4=F +» (4>7>6>D 7219894 >F 

19.12.2016 7.) 

4. SharePoint Server 2007 (�>7>6>D IT000012385) 
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5. %6>5>4=> D4E?D>EFD4=O5<>5 < 55E??4F=>5 ��:  

- LibreOffice (https://ru.libreoffice.org/download/) 

- OpenOffice (https://ru.libreoffice.org/download/) 

 
12. �?<E4=<5 <4F5D<4?L=>-F5E=<G5E>>= 547O, =5>5E>4<<>= 4?O 

>EGM5EF6?5=<O >5D47>64F5?L=>7> ?D>F5EE4 ?> 4<EF<??<=5 
 

'G55=4O 4G4<F>D<O 4?O ?D>6545=<O 74=OF<= ?5>F<>==>7> F<?4 < 

?45>D4F>D<< >4D54DO M>E?5DF<7O < G?D46?5=<O =546<6<<>EFLN, 7>D=>7> 

45?4, >E=4M5==O5 GG55=>= <555?LN: EF>?O, EFG?LO 4?O >5GG4NM<EEO; EF>?, 

EFG? 4?O ?D5?>4464F5?O; 4>E>4. �G?LF<<54<4F5=FD: =>GF5G> 

ASUSX50VLPMD T2330/14"/1024Mb/160Gb /EG<>4/ ?D>5>F>D inFocusIN24; 

<=F5D4>F<6=4O 4>E>4 Activboard 100 
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13. �E>55==>EF< D54?<74F<< 4<EF<??<=O 4?O <=64?<4>6 < ?<F E 

>7D4=<G5==O<< 6>7<>6=>EFO<< 74>D>6LO  

 

�D< >5GG5=<< ?<F E >7D4=<G5==O<< 6>7<>6=>EFO<< 74>D>6LO 

GG<FO64NFEO <E <=4<6<4G4?L=O5 ?E<E>D<7<G5E><5 >E>55==>EF<. �5GG5=<5 

<=64?<4>6 >EGM5EF6?O5FEO F4>65 6 E>>F65FEF6<< E <=4<6<4G4?L=>= 

?D>7D4<<>= D545<?<F4F<< <=64?<44 (?D< =4?<G<<).  

�?O ?<F E =4DGL5=<5< E?GE4 6>7<>6=> ?D54>EF46?5=<5 GG55=>= 

<=D>D<4F<< 6 6<7G4?L=>= D>D<5 (>D4F><= >>=E?5>F ?5>F<=; F5>EFO 7444=<=, 

=4?5G4F4==O5 G65?<G5==O< LD<DF><), =4 4G4<F>D=OE 74=OF<OE 4>?GE>45FEO 

?D<EGFEF6<5 4EE<EF5=F4, 4 F4>65 EGD4>?5D56>4G<>>6 < 

F<D?>EGD4>?5D56>4G<>>6. &5>GM<= >>=FD>?L GE?5645<>EF< >EGM5EF6?O5FEO 6 

?<EL<5==>= D>D<5: >5GG4NM<=EO ?<EL<5==> >F65G45F =4 6>?D>EO, ?<EL<5==> 

6O?>?=O5F ?D4>F<G5E><5 7444=<O. �>>?44 (D5D5D4F) F4>65 <>65F 5OFL 

?D54EF46?5= 6 ?<EL<5==>= D>D<5, ?D< MF>< FD55>64=<O > E>45D64=<N 

>EF4NFEO F5<< 65, 4 FD55>64=<O > >4G5EF6G <7?>65=<O <4F5D<4?4 (?>=OF=>EFL, 

>4G5EF6> D5G<, 674<<>45=EF6<5 E 4G4<F>D<5= < F. 4.) 74<5=ONFEO =4 

E>>F65FEF6GNM<5 FD55>64=<O, ?D54NO6?O5<O5 > ?<EL<5==O< D45>F4< 

(>4G5EF6> >D>D<?5=<O F5>EF4 < E?<E>4 ?<F5D4FGDO, 7D4<>F=>EFL, =4?<G<5 

<??NEFD4F<>==OE <4F5D<4?>6 < F.4.). �D><56GF>G=4O 4FF5EF4F<O 4?O ?<F E 

=4DGL5=<O<< E?GE4 ?D>6>4<FEO 6 ?<EL<5==>= D>D<5, ?D< MF>< <E?>?L7GNFEO 

>5M<5 >D<F5D<< >F5=<64=<O. �D< =5>5E>4<<>EF< 6D5<O ?>47>F>6>< > >F65FG 

<>65F 5OFL G65?<G5=>.  

�?O ?<F E =4DGL5=<5< 7D5=<O 4>?GE>45FEO 4G4<4?L=>5 ?D54>EF46?5=<5 

<=D>D<4F<<, 4 F4>65 <E?>?L7>64=<5 =4 4G4<F>D=OE 74=OF<OE  

76G>>74?<EO64NM<E GEFD>=EF6 (4<>F>D>=>6 < F.4.). �>?GE>45FEO ?D<EGFEF6<5 

=4 74=OF<OE 4EE<EF5=F4 (?><>M=<>4), >>47O64NM57> >5GG4NM<<EO 

=5>5E>4<<GN F5E=<G5E>GN ?><>ML. &5>GM<= >>=FD>?L GE?5645<>EF< 

>EGM5EF6?O5FEO 6 GEF=>= D>D<5. �D< ?D>6545=<< ?D><56GF>G=>= 4FF5EF4F<< 

4?O ?<F E =4DGL5=<5< 7D5=<O F5EF<D>64=<5 <>65F 5OFL 74<5=5=> =4 GEF=>5 

E>55E54>64=<5 ?> 6>?D>E4<. 

�?O ?<F E >7D4=<G5==O<< 6>7<>6=>EFO<< 74>D>6LO, <<5NM<E 

=4DGL5=<O >?>D=>-46<74F5?L=>7> 4??4D4F4, =4 4G4<F>D=OE 74=OF<OE, 4 F4>65 

?D< ?D>6545=<< ?D>F54GD F5>GM57> >>=FD>?O GE?5645<>EF< < ?D><56GF>G=>= 

4FF5EF4F<< <>7GF 5OFL ?D54>EF46?5=O  =5>5E>4<<O5 F5E=<G5E><5 ED54EF64 

(?5DE>=4?L=O= >><?LNF5D, =>GF5G> <?< 4DG7>= 74465F); 4>?GE>45FEO 

?D<EGFEF6<5 4EE<EF5=F4 (4EE<EF5=F>6), >>47O64NM57> >5GG4NM<<EO 

=5>5E>4<<GN F5E=<G5E>GN ?><>ML (74=OFL D45>G55 <5EF>, ?5D546<74FLEO ?> 

4G4<F>D<<, ?D>G<F4FL 7444=<5, >D>D<<FL >F65F, >5M4FLEO E ?D5?>4464F5?5<). 
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14. �<EF 4>?>?=5=<= < <7<5=5=<=, 6=5E5==OE 6 D45>GGN ?D>7D4<<G 

4<EF<??<=O 
 

�><5D 

<7<5=5=<O 

�><5D4 EFD4=<F 

�E57> 

EFD4=<F 
�4F4 

�E=>64=<5 4?O 

<7<5=5=<O < 

?>4?<EL ?<F4, 

?D>6>4<6L57> 

<7<5=5=<O 

<7<5=U==OE 74<5=U==OE 4==G?<D>64==OE =>6OE 

        

 
 


